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1. IMTacnoprt poHAA-0LIEHOYHBIX CPEICTB
B pesynprare ocBoeHus ydeOHOW AUCHUIUIMHBI «MHOCTpaHHBIA  S3BIK
(aHTNIMICKUI)» 00yUaroIuiics 10okeH 00manars npeaycmorpeHabiMu GI'OC o
cnerpansHoctu CIIO :
08.02.10 CTpoUTENbCTBO KEIE3HBIX JOPOT, MYTh U IIyTEBOE XO3AUCTBO CIIEAYIOIUMU
YMEHUSIMU, 3HAHUSIMH, KOTOpBIE bopMHpYIOT npodeccruoHaIbHy 0
KOMITETEHIIUIO, U OOIIMMH KOMITETCHITHSIMHU:

- OK 1. INornmath CyIIHOCTh M CONHMAILHYIO 3HAYMMOCTH CBOCH OymyIiei
npodeccun, NposBIATh K HEW yCTOMYUBBIN HHTEPEC.

- OK 2. Opranus3oBbIiBaTh COOCTBEHHYIO JIEATEIbHOCTb, BHIOMPATh TUIIOBHIE
METOJAbl M CHOCOOBI BBINOJHEHHA NPOPECCHOHANBHBIX 3a/ad, OLIEHUBAaTh HX
3 PEeKTUBHOCTH M KaueCTBO.

- OK 3. IIpynumate pemieHuss B CTaHAAPTHBIX U HECTAaHAAPTHBIX CUTYALMSIX
Y HECTH 32 HUX OTBETCTBEHHOCTb.

- OK 4. OcymecTBiaTe TOUCK M  HCIOJb30BaHHWE HH(OpMAIUH,
HeoOxomuMor a3 (PEKTUBHOTO  BBIMOJHEHUS  MPOGEeCcCHUOHATBHBIX  3ajad,
po(eCCUOHAIBHOTO U JMYHOCTHOTO Pa3BUTHSI.

- OK 5. Hcnonb3oBath HHGOPMAITMOHHO-KOMMYHUKAIIMOHHBIC TEXHOJIOTUHU B
npodeccuoHanbHON AESITEIbHOCTH.

- OK 6. PaGortath B KOJUIEKTHBE M KOMaHJE, 3(P(EeKTUBHO OOIIATHCS C
KOJIJIEraMu, pyKOBOJICTBOM, IOTPEOUTEISIMHU.

- OK 7. Bbpatb Ha ce0s OTBETCTBEHHOCTh 3a pabOTy UJIEHOB KOMAaHJbl
(TTOAYMHEHHBIX ), PE3YJIbTAT BBHITIOTHEHHS 3aTaHHH.

- OK 8. CamocTosTensHO ONpeAeNaTh 3aJauu Mpo(ecCHOHATHHOTO U
JUYHOCTHOTO PAa3BUTHS, 3aHUMATBhCS CaMOOOpa30BaHHEM, OCO3HAHHO IIJIAHUPOBATH
TIOBBIIIICHNE KBATH(PUKAIIUH.

- OK 9. OpueHTupoBaThbCsi B YCJIOBUAX YacTOM CMEHBI TEXHOJIOTUW B
po¢eCCHOHAIBHOM e TeNbHOCTH.

- [IK 1.2. OGpabarbiBaTh MaTepuasbl r€01I€3NIECKUX ChEMOK.

- IIK 2.1. YyacTtBoBaTh B IPOEKTUPOBAHMM U CTPOUTEIBCTBE JKEJIE3HBIX
JIOPOT, 3IAHUMN U COOPYKECHUN.

- IIK 2.3. KoHTpoiHMpoBaTh Kauye€CTBO TEKYUIErO COAECPKAaHUS IIyTH,
PEMOHTHBIX U CTPOUTENBHBIX padOT, OPraHU30BbIBATH UX TPUEMKY.

- [1K 3.1. O6ecnieunBaTh BHITIOJIHEHUE TPEOOBAaHUIN K OCHOBHBIM 3JIEMEHTaM
Y KOHCTPYKIIMU 3E€MJISTHOT'O ITOJIOTHA, IEPEE3I0B, IYTEBbIX U CUTHAIBHBIX 3HAKOB,
BEPXHEr0 CTPOECHUS NIYTH.

Ymers:

-o0marbcs (YyCTHO W MHUCbMEHHO) HAa HMHOCTPAHHOM  SI3bIKE Ha
po(hecCHOHANLHBIC U TIOBCEIHEBHBIC TEMBI,

- MEepeBOJUThH (CO ClIOBapeM) HHOCTPAHHBIE TEKCThbl MPOGEeCCHOHATBLHOU
HaIIPaBJIECHHOCTH.

-CaMOCTOSITEJIBHO COBEPIICHCTBOBAaTh YCTHYK0 M HHUCBbMEHHYI peub, | OK1-OK9
MOTIOJIHATH CJIOBAPHBIN 3amac.

3HaTh:

-nekcnueckui  (1200-1400 nexcMyeckuxX €IWHUI) U TpaMMaTHYECKHM
MUHUMYM, HEOOXOAMMBIN [UIs 4YTEHUS U TepeBoJa (Co CIoBapeMm)
MHOCTPaHHBIX TECTOB MPOQeCcCHOHATHHON HAIPABICHHOCTH.




PGSyJH)TaTLI ocBOcCHUA yqeﬁﬂoifl AUCHUIINHBI, MOAJICKaIUE IIPOBEPKE

Pe3yabrarbl 00yueHust
(ocBOCHHBIC YMEHHS,
YCBOEHHbIE 3HAHMSA) /

OcHOBHBIE TOKA3aTeJIN
OIIeHKH Pe3yJabTaTOB

Homepa pa3nenoB (Tem)
1o pado4eii nporpamme

O0bém BpemeHn,
OTBEIEHHBLIX HA
u3ydeHne(MaKCHMaJIbHAast

Bua u Ne 3aganmns pis
ONEePaTHUBHOTIO. PyOe;KHOT 0
M UTOTOBOI0 KOHTPOJISI

CJIOBapeEM)
WHOCTPAHHBIX TEKCTOB
npodeccuoHaATbHON
HAINpPaBJICHHOCTH;

MOBCEAHEBHOTO OOILIEHNUS
- 3anoiHsAeT pa3auyHbIe
BUJIbI aHKET B popMme,
IIPUHATOM B

KomnereHuuu HArpy3Ka)

Yacel %

Ymems: - CocraBisier T1.1-T |98 33% I1.3: 1.1 -
Y. 1 O6martbcs (YCTHO | BBICKa3bIBaHMS C 2.12 I1.3: 2.12
U IMCHbMEHHO) Ha UCIIOJIb30BaHUEM

WHOCTPAHHOM SI3bIKE HA | OCHOBHBIX

MOBCETHEBHBIC TEMBI; KOMMYHUKaTHBHBIX

Y 4 CamocToATeNbHO TUIIOB pe4H (ONUCAHUE,

COBEPIIIEHCTBOBATH MMOBECTBOBAHHUE,

YCTHYIO U TIMCBMEHHYIO | pacCcy’kKJIeHHE,

peyb, IOTIOJHATH XapaKTEePUCTHKA).

CJIOBApHBIN 3armac. - Bener

3uams: KOMOMHHPOBAaHHBIN

3. 1 Jlekcuueckuii nuanor (coueTaHue

(1200-1400 Pa3HBIX TUIIOB JUAJIOTOB)

JIEKCUYECKUX €IMHUI]) U | HA OCHOBE TEMATUKHU

rpaMMaTHYeCKUI y4ueOHOro oOLIeHUs, B

MUHUMYM, CUTYaIUIX

HEOOXOIUMBIH TSt O(QUIMAIILHOTO U

YTEHUS U TlepeBoja (Co | HeO(UIMAIBHOTO




Komnemenyuu: CTpaHe/cTpaHax
OK 2, OK 4 M3y4aeMoro s3bIKa.

-Brnaneer HeoOxoMMbIM

JIEKCUYECKUM

MaTepuagoM B paMKax

OIPEJICIICHHOW TEMATUKHU

- YMeeT pacno3HaBarh,

MepPEBOIUTH U

yHOTpeOIsATh B peun

W3Y4YEHHBIN

rpaMMaTHYECKUI

MaTtepuan

- YMeeT u3BleKaTh

HEO0OXO0IUMYIO

UHGOPMAITHIO U3

CJIOBapeil, CIPaBOYHUKOB,

HMHTEPHET PECYPCOB
Yuemn: - CocraBiser T213-T3.7 161 67% I13: 2.13.1; 2.13.3;
V. 2 O6marscs BBICKA3bIBAHUS C 2.14.1; 2.14.3;
(yctHO M HCII0JIb30BAHUEM 3.1.1; 3.1.3;
MMCbMEHHO) Ha OCHOBHBIX gg 'i’ ggg
MHOCTPAHHOM SI3bIKE | KOMMYHHKATUBHBIX 34 1: 3 4'3:
Ha TUTIOB peYU
npodeccuoHabHBIE | (OITUCAHUE, ;2}’ ggg’
TEMBI, MOBECTBOBAHMUE,
Y4 paccykJIeHue,
CamocTodTenbHO XapaKTEPUCTHUKA).
COBEpILICHCTBOBaTh | - Bener
YCTHYIO U KOMOWHUPOBAHHBII




MUCHMEHHYIO PEUb,
MOTIOJTHATH
CJIOBapHBIN 3armac.
3namo:

3. 1 Jlekcnueckunit
(1200-1400
JEKCHYECKUX
eIUHUIL) U
rpaMMaTU4eCKui
MUHUMYM,
HEOOXOAUMBIH IS
YTEHUS U TIepeBoja
(co coBapem)
WHOCTPAHHBIX
TEKCTOB
npodeccuoHaIbHON
HaIpaBJICHHOCTH;
Komnemenyuu:

IIK 1.2, IIK 2.1, IIK
2.3, 11K 3.1

JAajor (coueTaHue
Pa3HBIX THUIIOB
JINaJIoroOB) Ha
OCHOBE TEMaTUKH
y4eOHOTr0 OOIIEHUS,
B CUTYyaIHX
0pHUIIHATIEHOTO U
HEO(PUIMAITBHOTO
TTOBCETHEBHOTO
oO01IeHNs

- 3anoiHseT
pa3JIMYHbIC BUJIBI
aHKeT B opme,
IIPUHATOMN B
CTpaHe/cTpaHax
M3y4aeMoro S3bIKA.
-Bmaneer
HEOOXOIUMBIM
JICKCUYECKUM
MaTEpHUaIoOM B
pamKax
ONPEIEICHHOM
TEMaTUKH

- Ymeer
pacro3HaBaTh,
MIePEBOAUTH U
yHOTpeOIsATh B peUn
W3Y4YEHHBIN
rpaMMaTHYECKUN




MaTepua
- YMeeT u3BIIEKATH
HEOOXOUMYIO
UHPOPMAIIHIO 3
CJI0Bape,
CIIPaBOYHHUKOB,
HHTEPHET PECYPCOB

Ymems:

¥ 3 IlepeBoauTh
(co coBapem)
WHOCTpPAHHBIE
TEKCTHI
npodeccuoHaIbHOM
HAIPaBJICHHOCTH,
Y4
CaMoCTOsATENbHO
COBEPIIIEHCTBOBATh
YCTHYIO U
MUCHBMEHHYIO PEUb,
MOTOJIHATh
CJIOBApHBIIi 3amac.
3namu:

3 1 Jlekcuueckuit
(1200-1400
JIEKCUYECKUX
eIUHUI]) U
rpaMMaTH4YeCKUI
MUHUMYM,

- Ymeer
NepPEeBOIUTS (CO
CJIOBapeM)
WHOCTpPAHHBIE
TEKCTHI
po¢eCcCUOHATBHOMN
HAIPaBJICHHOCTH;

- YMeeT U3BJIeKaTh
HEO0OXOUMYIO
uH(pOpMaLHIO U3
CJIOBApEH,
CIPAaBOYHUKOB,
HUHTEPHET PECYPCOB

T213-T3.7

161

67%

I13: 2.14.2
3.1.2
322
332
34.2
3.5.2
3.6.2




HEOOXOIUMBIN IS
YTEHUS U TIepeBoja
(co coBapem)
WHOCTPAHHBIX
TEKCTOB
npodeccroHaIbHON
HaIPaBJICHHOCTH;
Komnemenyuu:

OK 1, 0K 4, 0K S5,
OK 6,

OK 7.




2. OueHka 0CBOCHUS Y4eOHOM TUCUUIINHBI

[IpeameToM OIEHKH CTy’KaT yMEHUS U 3HaHus, peaycMmorpeHHsie ®I'OC
no aucuuinae OI'CO.031HOoCTpaHHBbIN SA3bIK, HAITPABJICHHbBIE Ha
dhopmMupoBaHHe OOIMX U MPODHECCHOHATHHBIX KOMIIETEHIIHH.

Y1, 3JieMeHT MOaYJI

d)opMa KOHTPOJIA U OUCHUBAHUA

Texkyumuii KOHTPOJIb
®opMBbI U METO/IbI
KOHTPOJISI M OLEHKH
pe3yJbTaTOB
o0yueHus

Py0exnbIii
KOHTPOJIb

HpOMe)KyTO‘-lHaﬂ aTrrecranus

HNHocTpaHHBIN S3bIK
(aHTNUMCKMIA)

D®opMbI KOHTPOJIS
00yuYeHust:

-JIOMalllHUE 3aJJaHus
po6JIEMHOTO
XapakrTepa;
-IPaKTUYECKUE 3a/1aHUs
o pabote ¢
uH(popManue,
JIOKYMEHTaMH,
JIUTEPATYPOH;

-3aIIMTa
WHAUBUIYAJIbHBIX U
IPYNIOBBIX 3aJaHUM
MPOEKTHOTO Xapakrepa.
-YCTHBIN U
NUCbMEHHBIN KOHTPOJIb
OCBOCHMSI IPOHUIEHHBIX
TeM

-OLIEHKA BBIMOJIHEHUS
3aJaHud IS
CaMOCTOSATENbHOMN
paboTHI.
-IIPAKTUYECKHUE 3aJJaHuUs
-TE€CTbI
MeToabIonieHKH
pe3yJibTaToB
-HAKOTUTEIbHAS
crucrema 0aJlioB, Ha

-IPOBEPOYHBIE
paboTsl
-KOHTPOJILHBIC
paboThI

T hepeHIINPOBAHHBI
1 3a4€T

OCHOBE KOTOPOI
BBICTABJISIETCS] UTOIOBast
OTMETKa.
-TpaJuLHOHHAs
CHUCTEMA OTMETOK B
Oaymrax 3a KaxIyro
BBINOJTHEHHYO paboTy,
Ha OCHOBE KOTOPBIX
BBICTaBJISIETCSI UTOTOBAs
OTMETKa;

~-MOHUTOPHUHT pOcTa
TBOPYECKOI
CaMOCTOSITEJIbBHOCTH U
HABBIKOB IOJYYEHUS

-TCCThI




00yJaronmmcs.

HOBOT'O 3HAaHUs Ka’KIbIM

KpnTepml OIICHKH ITHCbMCHHBIX OTBETOB

OuneHku

Kputepun oueHku

«5»

KommyHuMKaTHBHAs 3a/1a4a pelieHa
MOJTHOCTBIO, IPUMEHEHUE JICKCHKH aJeKBaTHO
KOMMYHHKaTPIBHOﬁ 3aJa4c, rpaMMaTui4eCKue
OIMOKY JINOO OTCYTCTBYIOT, JINOO HE
HPEMITCTBYIOT PEIICHHIO KOMMYHHKATUBHOM
3a1a4u

«y

KomMmyHHKaTHBHasA 3a/ja4a peleHa
IIOJIHOCTBHIO, HO IIOHMMAHHUEC TCKCTA

OILINOO0K.

HC3HAYUTCJIBHO 3aTPYAHCHO HAJITUIHUCM
I'paMMaTUICCKUX H/VIIH JIEKCUYECKHX

«3»

KoMMyHuKaTHBHAs 3a/1a4a peLIeHa, HO
NOHUMAaHHE TeKCTa 3aTPYAHEHO HATNYNEM
rpyObIX TpaMMaTHYECKHUX OMIHOOK HITH
HEaICKBaTHBIM YIOTPEOJICHUEM JICKCUKH.

«2»

KOMMYHI/IKaTI/IBHaH 3ajJiladya HC pCUICHAa BBUAY
0OJIBIIIOr0 KOJIMYECTBA JICKCHKO-
IrpaMMaTU4Y€CKUX OIIMOOK HITH

HCAO0CTATOYHOI'O 0o0beMa TEKCTa.

Kputepumn oueHKun yCTHbIX pa3BEPHYTbIX OTBETOB

Ouenku B3aumopeiicTs | Jlekcuyeckuin | I'pamMmatuyeck | @oHeTuye
ue ¢ 3amac as CcKoe
co0eceTHUKOM NMPaBUJIBHOCTH | 0pOpMIIECH

peuu He pevu

«S5» AnexkBaTHas Nmeercs Jlexcuka Bnaneer
€CTECTBEHHAs OoJbIION aJleKBaTHa OCHOBHBIM
peaxkuus Ha CJIOBApHBIN CUTYyalWH, u
PEILINKA 3anac, penkue IIPOU3HOCHU
cobOeceTHUKA. COOTBETCTBYIOL | TPAMMATHYECKH | TEJIIbHBIMU
[IposBasiercs 1707 ¢ OmuOKHU He u
peueBas MPEJIOKEHHON | MEIIAOT VHTOHAIO
VHUIMATHBA teme. Peub KOMMYHHUKAIINHU. | HHBIMA
JUISL PELICHUS oernas. O0beM HaBBbIKAMU
MOCTABJICHHBIX | BBICKA3bIBAHUM YCTHOM
KOMMYHHKATUB | COOTBETCTBYET peuu u
HBIX 33/1a4. MPOrPaAaMMHBIM TEXHHUKOU

TpeOOBAHUSM. YTCHHSL.

«4» KommyHnukamusa | Umeetcs I'pammaruuecku | B
3aTpyAHEHA, JNOCTaTOYHBIN e 1/ JOCTaTOYH
peUb y4alerocs | CJIOBapHbIN JIEKCUYECKUE OH CTEICHU

3amac, B OILIMOKH BJIAJICET




OCHOBHOM 3aMETHO TEXHUKOM
COOTBETCTBYIOIII | BIIUSIIOT Ha YTCHUS U
15471 BOCIIPUATHE OCHOBHBIM
IIOCTaBJICHHOW | peun 51
3ajaye. MPOU3HOCHU
HaOmaronaercs TEJIHLHBIMU
JIOCTATOYHAs U
OerJIoCTh peyu, WHTOHAIINO
HO OTMEYaeTcs HHBIMHU
MOBTOPSIEMOCTD HaBBIKAMH
u YCTHOU
HEOIpPAaBAAaHHO | HEKOTOPHIC y4amierocs. JIOTyCKaeT HE3HAYNUTEIbHbIC
nay3upoBaHa. 3aTpyIHECHHUS OIIKOKHU B MPOU3HOILLICHUU

pu noadoope
CJIOB.

OTACJIbHBIX 3BYKOB U
HHTOHAIINH WHOSI3BIYHOM peun.

«3» Kommynukanus | Mmeet Yyammuiics B
CYIIIECTBEHHO OTPAaHUYCHHBIA | JienaeT HEJIOCTAaTOu
3aTpyIHEHA, CJIOBAPHBIN OoJbII0e HOM CTETICHU
yYaluics He 3armac, KOJINYECTBO BJIAJICET
MPOSIBJISIET HCIIOJIb3YET rpyOBIX TEXHUKOU
peueBoit YIIPOIIICHHBIE rpaMMaTHYECKH | YTCHUS U
WHUIMATUBBI. JIEKCUKO- X JOITyCKaeT

rPaMMAaTHYCCKHU | H/WIIH MHOTOYHCIIC
€ CTPYKTYpBHI, B | IEKCHUECKUX HHBIC
HEKOTOPBIX OLLIMOOK. (oHeTHUECK
CiIydasix ue u
HEJIOCTaTOYHbBIC WHTOHAITMOH
TUIsST HBIC
BBITIOJTHCHUS OIINOKH,
3a7]aHUS B 4TO
npeaenax 3aTpyAHSET
MPEIOKEHHON IIOHMMAaHUE
TEMBI. peun.

2» Kommynukarus | bennblii Jonyckaer Peun
Hasg 3a/ladya He | JICKCUYECKHI OoJpIIoe HETMPaBWIbH
pelieHa BBUYy | 3amac, KOJINYECTBO as, ¢
0OJIBIIIOTO OTCYTCTBYET rpaMMaTUYECKu | OOJIBIIUM
KOJINYECTBA Kakas-1moo0 X OIITHOOK. KOJIMYECTBO
JIEKCHKO- BapuUaTUBHOCTh | OTMeuaeTcs M
rpaMMaTUYECKH | B €T0 TPYAHOCTh NP | POHETHUYECK
X OIIMOOK UJIM | UCIIOJIB30BaHUU | BBIOOpE UX 1
HEJI0CTAaTOYHOT MPaBUIIbHBIX WHTOHAIMOH
0 o0beMa IJ1aroJibHbIX HBIX
TEKCTa. dbopm u OIHOOK.




ynoTpeOaeHuH
HYKHBIX
BpPEMEH.

HabGmonarot
csl
MHOTOYHCIIE
HHEBIE
OIIMOKH Ha
npaBuiIa
YTEHHUS.

Ikana oueHkn 00pa3oBaTeJIbHbIX JOCTHKEHUN

(MpaBUJILHBIX OTBETOR)

[IpoueHT pe3yJbTaTUBHOCTH

O1uieHka ypoBHS MOJITOTOBKHU

OaJin (oTMeTKA)

BepOAJIbHBIN aHAJIOT

90 + 100 5 OTJIUYHO
80 + 89 4 Xopouio
70 =79 3 Y 10BJIETBOPUTETBHO




4. Kputepun OLEHUBAHHMS 10 pe3yJbTaTaM TeKyllero, py0eKHOro u

HTOIrOBOIo KOHTPOJIA

Iloxka3aTean u KPUTECPHUH TJIsl OIICHKHU OCBOCHHUSA Oﬁll_ll/IX KOMIIeTeH[[I/Iﬁ

OK OcHoBHbIe IOKa3aTeau | Kpurepuu
OLICHKH pe3yJbTara
YMeHue unraTh I'pamoTHOE uTEHME, 3a npaBUIbHBIN OTBET HA
YMeHue nucartb BBIJICJICHUE TJIABHOUN U BOIIPOCHI UJIK BEPHOE
3HaHuEe rpaMMaTHKU BTOPOCTEIIEHHOM pelieHre 3aaa4u
3HaHME JIEKCUKHU U uHbOpMaIuu. BBICTaBJISIETCS
¢dpazeosnoruu ['pamoTHOE HanvcaHue MOJIOKUTENIbHASI OLIEHKA
TEKCTa U OT/ACJIbHBIX —1 Gan.
CJIOB. 3a HENpaBUJIbHBINA OTBET
[IpaBunbsHOE Ha BOMPOCHI WK
PUMEHEHHE B PEUU HEBEPHOE pelICHUE
rpaMMaTHYECKUX 3a/1a4M BBICTABJISAETCS
KOHCTPYKIIUI U OTpHULIATENbHAS OLIEHKA —
CTPYKTYP. 0 Gamos.
[IpaBunbHOE CootBeTcTBUE
PUMEHEHHE MIOATOTOBJIEHHOT'O
JIEKCUYECKUX U Martepuaia TpedyeMbIM
(dpazeosoruuecKux KpUTEPUIM
€JMHUIL

KpnTepml OIICHKH ITUCbMCHHBIX OTBETOB

OueHku Kpurepuu oueHku

«5» KommyHukaTtuBHast 3aj1a4ya perieHa
MIOJTHOCTBIO, IPUMEHEHUE JIEKCUKHU
aJICKBaTHO KOMMYHHKAaTUBHOM
3aJlaye, rpaMMaTUYeCKUe OIHUOKH
100 OTCYTCTBYIOT, JIMOO HE
NPENSATCTBYIOT PELICHUIO
KOMMYHUKAaTUBHOM 3aJ]a4d

«4» KommyHukaTuBHas 3aj1aua perieHa
MOJTHOCTHIO, HO TOHUMAaHHE TEKCTa
HE3HAYUTEIHHO 3aTPYAHEHO
HaJIMYueM rpaMMaTUUYECKUX U/UIu
JEKCUYECKHUX OIHUOOK.

«3» KommyHukaTtuBHas 3aj1a4ya pelieHa,
HO NOHUMAaHHUE TEKCTa 3aTPYJHEHO




HaJMYHEM TPyObIX TPaMMaTHIECKUX
OIMMOOK MIIH HeaJeKBaTHBIM
yIOTpeOJeHUEM JIEKCHKH.

»

KomMyHukaTuBHas 3agaya He
pelieHa BBUY OOJIBIIIOTO KOJUYECTBA
JIEKCUKO-TPaMMaTUYECKUX OLNOOK
WJIM HEJIOCTATOYHOT0 00beMa TEKCTA.

KpuTtepum oneHK#n yCTHBIX

a3BEPHYTHIX OTBETOB

JUISI BBITIOJTHEHUS
3aJ1aHUA B

Ouenkn BzaumopeiictBue ¢ | Jlekcuuecknii I'pammaTnueckas | ®oHeTHYECKOE
co0eceTHUKOM 3amnac NMPaBUJIBLHOCTh oopmiieHUE pedn

peyu

«5» AnexBaTHas Nmeercs Oonpiioii | Jlekcuka anekBatHa | Brnaneer
€CTECTBEHHAS CIIOBapHBIH 3amac, CUTyalllH, peaKue OCHOBHBLIMH
peakius Ha COOTBETCTBYIOIIMM | rpaMMaTUYECKUE MPOU3HOCUTETHHBI
PeTUIKN MPEAIOKEHHOM OIIINOKY HE MU U
cobecemHUKa. Teme. Peur Oernasg. | Memaror HHTOHAIIMOHHBIMH
[IposiBasieTcs O6bem KOMMYHUKALIUH. HaBbIKAMH YCTHOMN
peuesas BBICKA3bIBaHUI peYM U TEXHUKON
WHUIAaTUBA JUIS COOTBETCTBYET YTECHHS.
perieHus MPOrpaMMHBIM
MMOCTaBJICHHBIX TpeOOBaHUSIM.

KOMMYHHUKATHUBHBIX
3aJ1a4.

«4» Kommynukanus Nwmeercs I'pamMmmarnueckue B nocrarounoun
3aTpyAHEHA, PeYb IOCTAaTOYHBIN 150050507t CTEIIEHU BIAJIEET
y4anerocs CJIOBapHBIH 3amac, B | JIEKCUYECKHE TEXHHUKOH YTECHUS U
HEOIPaBIaHHO OCHOBHOM OIITMOKHK 3aMETHO OCHOBHBLIMH
ray3upoBaHa. COOTBETCTBYIOIIMI | BIUAIOT Ha MPOU3HOCUTETHHBI

IIOCTaBJICHHOU BOCITPHUSITUE PEUN MU U
3azaqe. y4Jarierocs. HHTOHAIIMOHHBIMH
Habmonaetcs HaBbIKaMH YCTHOMN
JIOCTaTOYHas peun. OnHaKko
6erynocTs peun, HO JIOIyCKaeT
OTMEYaeTCs HE3HAYUTEIILHEIC
MOBTOPSAEMOCTh U OIITNOKY B
HEKOTOPHIE3aTPyIH MPOU3HOIICHUH
€HHsI TP oA00pe OTJIETIbHBIX 3BYKOB
CJIOB. M MHTOHAIUH
HMHOSI3BIYHOM PEYH.

«3» KomMmyHnukanus Hmeer Yyamuiics nenaer B nenocrarounon
CYILIECTBEHHO OTPAaHUYCHHBIN 6ousbII0E CTCIICHU BIAJICCT
3aTpyAHeHa, CJIOBApHBI 3amac, | KOJMYECTBO rPyObIX | TEXHHKOW YTCHHUS U
yJaluincs He HCIIOJIb3yeT rpaMMaTHYECKUX JIOTTyCKaeT
MIPOSIBJISIET PEYEBOM | YIIPOIIEHHBIE H/MIN TEKCUYECKHX | MHOTOYHCIICHHEIE
HHHULIMATUBEL. JIEKCHKO- OIIHNOOK. (dhoHeTHUECKHUE U

rpaMMaTHYeCKHe WHTOHAIIMOHHBIE
CTPYKTYPBI, B OIIIMOKM, YTO
HEKOTOPBIX 3aTpyAHSIET
CITy4asx TIOHUMAaHUE PeyH.
HEJ0CTaTOYHbBIC




npejenax

MpEAJI0KEHHOM
TEMEL
«2» KommyHnukatuBHas | beanslit Homnyckaet Peus
3a/1a4a He penieHa JIEKCHYECKHUI 6osbII0E HETpaBUIIbHAS, C
BBHy OOJIBIIIOTO 3arac, KOJIMYECTBO OOIBIINM
KOJINYECTBA OTCYTCTBYET rpaMMaTHYECKHUX KOJIMYECTBOM
JIEKCHKO- Kakasg-1mbo OIINOOK. (OHETUYECKHX U
rpaMMaTHYeCKUX BapUaTHBHOCTH B OTtMmeuaeTcs MHTOHAIIMOHHBIX
OIUOOK WK ero TPYAHOCTH TIPU OIIHOOK.
HEIOCTATOYHOTO HCIIOJIF30BAHNH. BEIOOpE Haomromarorcs
o0beMa TEKCTA. MIPABHIILHBIX MHOTOYHCIIEHHBIE
TJ1aroibHBIX GOPM U | OITMOKHW Ha TpaBHIIa
ynoTpeOiaeHuun YTCHHS.

HY>KHBIX BPEMEH.




5. KOHTPOJIbHO-0LICHOYHbIE MATEPHAJIBI 110 Y4eOHOM IMCHUILIMHE

3adanus 0na ouggepenuuposannozo 3auema (umoz2068aa ammecmayus)

Variant 1

1. Match the English words and word combinations with their Russian
equivalents.

1. todoone’sbest a)  npocTUTh

2. to fail a) ST

3. failure b) JIEJIaTh BCE BO3MOYKHOE

4. to forgive ¢) cymma

5. poison d)  mpoBanuBaTh

6. sum €)  TOCIY>XUTb IPUIUHOU

7.  tocause f) Hey/1a4a, IpoBal

2. Choose the most suitable words and translate the sentences.

1. The rich man (thought, considered, supposed) him a reliable partner and an
excellent man.2.He didn’t want anybody to hear their (talk, dialogue, conversation). 3.
I’ve always (wanted, preferred, tried) not to let you be a success in business. 4. I (did,
made, tried) my best to fail it. 5 The real (aim, purpose, reason) was quite different.6. I
had (sold, traded, retailed) your secret to another (firm, company, corporation) for a
hundred and fifty thousand dollars. 7. I was not so (consistent, dependable, reliable) as
you thought I was.

3. Read the text and translate it using a dictionary if necessary.

Friends in Business

A rich businessman was dying. He asked all his family to leave him alone with
his partner who had been in the same business with him for years. The rich man
considered him a reliable partner and an excellent man. The dying man wanted to tell
him something important and didn’t want anybody to hear their conversation.
“George,” the man said when they were left alone. “I’'m dying... I must tell you.
Listen, please. I’ve always been bad to you. When you were away on business two
years ago, I took a big sum of money from the safe and never put it back. I’ve always
tried not to let you be a success in business. I’ve greatly disliked you all my life. You,
certainly, remember that plan of yours. I did my best to fail it. You thought that the
changes in business had caused its failure, but it wasn’t so. The real reason was quite



different. I had sold your secret to another company for a hundred and fifty thousand
dollars. Oh, George, forgive me, please. “Don’t worry, Jim,” said George, “That’s all
right. I’ve also got to tell you something. I was not as reliable as you thought I was. It
was [ who put poison into your soup at dinner yesterday.

Variant 2

1.Match the English words and word combinations with their Russian
equivalents.

l. coacha)  momuHa

2. fare b)  pas3boitHHUK

3. toll c¢) Bopora

4. highwayman d)  mparoreHHBII KaMEHb
5.  jewel e)  Bmamenen

6. gate f) mJiaTa 3a npoesja

7. ownerg)  Kapera, TUJTUXKAHC

2. Read the text and translate it using a dictionary if necessary.

Travelling in England before Railways

L. There were no railways in England before 1825, and if people wanted to
travel, they had to go by road, either on foot, on horseback, or in a coach. In the days
before the railways, however, people did not travel much as they do now. The roads
were few, and most of them were bad, especially when it rained.

II. A journey by coach took a long time. Two hundred years ago passengers
travelling from Edinburgh to London were two weeks on the road — if the weather was
good. A hundred years later, however, the journey was often done in about two days.
And today the “Flying Scotsman™ can take you from London to the capital of Scotland
in about eight hours. Today many people prefer to go to Edinburgh by air.

III.  People could not travel much in the past as the fares were high. A coach
could not take many people, and the fares were high, because the coach-owners had to
pay for the use of the houses that were kept at the inns (hotels) all along the road.
Travelling in the mail coaches cost still more, because they carried the mail and did
not travel so slow.

IV. Even walking cost money in those days. On every highway (main road)
and also on many of the side roads, there were gates called toll-gates. When a traveller
came to one, he had to pay a toll. This money was used to make the roads better.



V.  But the greatest danger on the road two hundred years ago were the
highwaymen. A highwayman was a man who took money and jewels from travellers
on the roads. Highwaymen stopped coaches and cried: ““Your money or your life!” and
the passengers had to give them all they had. Sometimes a highwayman had friends at
the inns. If some rich people stayed a night at an inn, the highwayman was soon told
and he then stopped their carriage the next day.

VI. That’s way travelling in the days of the coaches was dangerous and not
very comfortable.

3. Choose the correct word from the box and translate the sentences.

money and jewels  dangerous coach  “Flying Scotsman” the capital of
Scotland

the journey Highwaymen atthe inns comfortable toll-gates

I. Ajourney by  took a long time.

2. A hundred years later  was often done in about two days.

3. And today the “  ” can take you from London  in about eight hours.
4. On every highway there were gates called

5. A highwayman was a man who took  from travellers on the roads.

6.  stopped coaches and cried: “Your money or your life!” and the

passengers had to give them all they had.
7. Sometimes a highwayman had friends
8. That’s way travelling in the days of the coaches was  and not very
Variant 3
1. 1. Match the English words and word combinations with their Russian
equivalents.
l. living thingsa) ~ Mopckue BOJOpOCIH
layersb)  He BO30OHOBIIIEMbBIE PECYPCHI
algae ¢)  yewm korja-nu0O paHbliie
nonrenewable resources d)  mIacThl
than ever before e€)  mapHuxoBbIi Y PekT
supply f) ’KUBBIC CYIIECTBA
torelease g)  MPUPOJHBIC SHEPTOPECYPCHI (TOILIIUBO)
to react with moisture h)  3amacer

ARSI IR AN

the greenhouse effect 1) B3aMMO/ICHCTBOBATH C BJIaroi
fossil fuels j) BBICBOOOXKIATh

—
e



2. Read the text and translate it using a dictionary if necessary.

Fossil Fuel

L. All the machines of modern life require energy to make them run. About
90 percent of that energy comes from burning fossil fuels. Fossil fuels include
petroleum (oil), coal, and natural gas. These materials are called fossil fuels because,
like fossils, they are the remains of organisms that lived long ago. Organisms are
plants, animals, and other living things.

II.  Fossil fuels formed in the ground hundreds of millions of years ago. Dead
organisms sank into mud and rock. Over time many layers of rock built up. The
remains of the organisms slowly changed in form to become different kinds of fossil
fuels. Coal came from plants. Petroleum and natural gas came mainly from
microscopic organisms such as algae.

III.  Fossil fuels and their products have many uses. Power plants use fossil
fuels to produce electricity. People heat their homes and other buildings by burning
fossil fuels. Gasoline, a product made from petroleum, fuels cars and other kinds of
motorized equipment. Many countries produce fossil fuels. The greatest producer of
petroleum is Saudi Arabia. Russia has the largest reserves of natural gas. Major coal-
producing countries include the United States and China. The United States uses more
fossil fuels than any other country.

IV. Since the late 1700s people have been using fossil fuels at a faster rate
than ever before. But the planet’s supply of fossil fuels is limited. Fossil fuels are
called nonrenewable resources. Once they are used up, they will be gone forever. The
use of fossil fuels harms the environment as well. When petroleum and coal burn, they
release harmful gases. These gases react with moisture to create acid rain, a dangerous
form of pollution. Burning fossil fuels also increases the temperature of Earth’s
atmosphere. This warming, called the greenhouse effect, may be harmful to living
things. For these reasons scientists and engineers have developed new ways to
generate power without using fossil fuels. For example, some cars are now powered by
electricity instead of gasoline. Homes can be heated by sunlight.

3. Choose the correct word or phrase from the box and translate the sentences.
layers of rock include the ground fossil fuels mainly harmful
nonrenewable resources  instead of heated increases

1. Fossil fuels formed in _ hundreds of millions of years ago. 2. Over time
many __ built up. 3. Petroleum and natural gas came __ from microscopic



organisms such as algae. 4. Power plants use _ to produce electricity. 5. Major
coal-producing countries  the United States and China. 6. Fossil fuels are called
___.7. This warming, called the greenhouse effect, may be  to living things. . 8.
Burning fossil fuels also _ the temperature of Earth’s atmosphere. 9. Homes can be
____ by sunlight. 10. Some cars are now powered by electricity  gasoline.

Variant 4

1. Match the English words and word combinations with their Russian
equivalents.

1. fuel source a)  coIpas HEDTH

2. gasoline  b)  pak Jerkux

3. crude oil ¢)  HaBomHEHHe

4. lung cancer d)  TpaHCIIOPTHOE CPEACTBO

5. supergreen cars €)  paboTaTh Ha

6. drought f) HMCTOYHUK TOILJIMBA

7. flood g)  mapHUKOBBIE rassl

8. vehicle h)  GeH3un

0. greenhouse gases 1) AKOJIOTMYECKH YUCThIE MAITUHbI
10. torunon j) 3acyxa

2. Read the text and translate it using a dictionary if necessary.

Supergreen Cars and the Environment

L. The Aptera is a “supergreen” car. Supergreen cars are designed to run on
a fuel source other than gasoline. What’s wrong with gasoline? First, it comes from
crude oil. There is only so much crude oil left inside Earth. When we run out, there
will be no more gasoline to power cars.

II.  But that is not the only problem with gasoline. Cars that run on gasoline
damage the environment. Each year the average gasoline-powered car sends nearly 6
tons (5.4 metric tons) of greenhouse gases into the air. Greenhouses gases are not
friendly to humans or animals. They pollute the air. Air pollution can make people sick
with lung cancer, asthma, and other diseases.

[II.  Greenhouse gases are not friendly to Earth either. These gases trap the
sun’s heat, much like the glass roof on a greenhouse. They cause Earth’s temperature
to rise. This global warming is melting ice at the North Pole and the South Pole. The
more the ice melts, the less ice there will be to cool Earth. Experts predict that melting



ice will also cause sea levels to rise. Rising seas could flood islands and coastal
regions around the world. And that’s not all. Scientists agree that global warming
could lead to more extreme weather, such as hurricanes, droughts, and floods.

IV. Supergreen cars are a wonder of transportation because they present an
Earth-friendly alternative to gasoline-powered vehicles, polluted air, and global
warming. Some supergreen cars run on vegetable oil, solar (sun) energy, and other
nonpolluting fuels. These cars are still in the experimental stage. You are not likely to
see them on the road anytime soon.

3. Choose the correct word or phrase from the box and translate the sentences.

forecast

run on considered

illnesses  hurricanes

nonpolluting floods

1. Supergreen cars are  to run on a fuel source other than gasoline.
2. Experts ___ that melting ice will also cause sea levels to rise.

3. Air pollution can make people sick with lung cancer, asthma, and other .
4.Some supergreen cars vegetable oil, solar (sun) energy, and other  fuels.
5. Global warming could lead to more extreme weather, such as, droughts, and

Variant 5

1. Match the English words and word combinations with their Russian
equivalents.

1. to diverse a) MSIKOTb TIOJIa

2. to exploit b)  MonoTble 3epHa

3. toinvent ¢) M3MeJbuaTh

4. ground beans d)  ucnoab30BaTh, HIKCILTYaTUPOBATH
5. to roast e) OpouTh, HEepMEHTUPOBATH

6. pulping machine f) apoMaTHBIN 3arax

7. to ferment g)  kxapuTh

8. to grind h)  pa3paGotarth

9.  thepulp 1) n300peTaTh

—
e

fragrant scent 1) JaBUJIbHAS MalluHA



2. Read the text and translate it using a dictionary if necessary.

A Favorite Breakfast Drink

L. Powdered instant coffee was devised by Satori Kato but his idea was
exploited by others. The practice of drinking coffee was invented earlier in Arabia
where it was reported by ar-Razi, an Arab doctor in the 10th century. Coffee is
produced in many countries. The coffee bush was found originally in Arabia and
Ethiopia, but it is now grown in Brazil, Colombia, the Ivory Coast, Uganda, Angola,
Kenya and Central America. The beans are ground and coffee is used in most countries
as a breakfast drink. The first coffee house was opened in Paris in 1643 and was
followed by others in Oxford (1650) and London (1652).

II. Coffee bushes produce berries which contain one or two beans. The
berries are picked by hand and put through a pulping machine. The beans which come
out are placed in large tanks where the pulp ferments. The beans are then washed and
spread out to dry in the hot sun. After two weeks the beans are put through a machine
which removes the last of the skin. It is not until the coffee beans have been roasted
that they get their fragrant scent. After roasting the beans are ground between steel
rollers. The best coffee is made from freshly roasted and ground beans.

3. Agree (True) or disagree (False) with the following statements.

1. The practice of drinking coffee was invented earlier in Arabia.

2. Powdered instant coffee was devised by ar-Razi.

3. The coffee bush was found originally in Ethiopia and Arabia.

4. The first coffee house was opened in Paris in 1642.

5. It was followed by others in Oxford (1650) and London (1652).

6. Coftee berries usually contain only two beans.

7. The beans are usually placed in large containers.

8. After two weeks the beans are put through a machine which removes the
first skin.

0. After roasting the beans are ground between steel rollers.

10. The best coffee is made from freshly roasted and ground beans.
Variant 6

1. . Match the English words and word combinations with their Russian
equivalents.

1. pollena)  kieTka KpoBU

2. exact copiesb)  mmHIET



the bloodstream  h) JI€30KCUPUOOHYKIIEMHOBASI KUCIIOTA

3. ablood cell ¢)  mpuIBIIA

4. inject d)  xupyprus

5. tweeze €)  TOYHbIEC KOIHHU

6. scalpel f) BBOJIUTH

7. surgery g)  KUBbIE CyIIECTBa
8.

9.

living things1) CKAJIBIIEINb
10.  deoxyribonucleic acid (DNA) j) KPOBOTOK

2. Read the text and translate it using a dictionary if necessary.

Microscience and Medicine

L. Tiny nanomachines might be able to clean rivers and the air by gathering
pollutants, the way bees collect pollen. They might even be able to re-create
themselves. Each nanomachine could make hundreds of thousands of exact copies of
itself.

II.  Doctors especially are very excited about micromachines and
nanomachines. These machines would be far smaller than a blood cell. They could be
injected into the human body. Cruising through the body, these machines could
perform all sorts of tasks to keep a person healthy.

III.  Sniegowski’s micro steam engine could be connected to tiny tweezers or
scalpels. It could operate on individual cells within a human body. It would be like a
tiny robot doctor. “Eye surgery, neurosurgery [operating on nerve cells], certain areas
of brain surgery come to mind,” says Paul McWhorter, an engineer who helped
develop the steam engine. “Right now we’re looking for neurosurgeons and eye
surgeons to tell us what they really need.” Perhaps, someday doctors could inject
thousands or even millions of these tiny machines into the bloodstream. There they
will cruise like miniature submarines, looking for damaged or unhealthy cells and
repairing them. They could cure people before they even knew they were sick.

IV. Other nanomachines might be able to build molecules of any medicine,
atom by atom. The machines may even be able to build other tiny machines exactly
like themselves, reproducing like the cells in the human body.

V. In early 2009, scientists from the United States and China created a
twoarmed nanomachine. The machine is only 150 by 50 by 8 nanometers. It will be
able to build molecules of deoxyribonucleic acid (DNA) one atom at a time. The DNA
molecule is the genetic building block of living things. The nanomachine might serve
as a factory for assembling new types of materials and medicines

3. Choose the correct word from the box below and translate the sentences.



1. These machines would be far smaller than .

2. These machines __ all sorts of tasks to keep a person healthy.

3. It would be like __ doctor.

4. Perhaps, someday doctors could  thousands or even millions of these tiny
machines into the bloodstream.

5. There they will cruise like  , looking for damaged or unhealthy cells and
repairing them.

6. Other nanomachines might be able  of any medicine, atom by atom.

7. It will be able to build molecules of ~ (DNA) one atom at a time.

could perform inject a blood cell a tiny robot

miniature submarines  deoxyribonucleic acid  to build molecules

Variant 7

1. Match each word or phrase on the left with the correct equivalent on the right.

1. a hobby horse a)  not for women
2. a boneshaker b)  a device which causes movement between parts
of a machine
3. unladylike c¢)  to sit or stand with your legs on either side of a frame
the rear wheel d)  astick with a head of a horse

4.

5. crank €)  a back wheel of a vehicle

6. straddle the frame f) the old-fashioned roads made of the rounded
stones

7. cobblestone streetsg)  a very old, uncomfortable vehicle

2. Read the text and translate it using a dictionary if necessary.

Bicycles

L. Bicycles take the wheel and connect it directly to human muscle power.
The first bicycle appeared in 1817 in Paris, France. People called it the hobby horse.
At first glance, the hobby horse looked a lot like a modern bicycle. It had two metal
wheels connected by a wooden or metal frame. At second glance, the differences stand
out. The hobby horse had no pedals, crank, or chain. Riders did not sit on it. Instead,
they straddled the frame and pushed the machine along with their feet.

I[I. A new kind of bicycle appeared in the 1860s. People called it a
boneshaker. The name was painfully on target. The bicycle’s metal wheels and iron
tires made for a bone-shaking ride. This bike had wooden pedals attached directly to
the front wheel. It had no chain to move the back wheel. This front-wheel drive made



for a hard, slow ride over the cobblestone streets of the day. In 1870 the high-wheeler
arrived on the scene. Its front wheel was 53 inches (135centimeters) wide. With its
huge front wheel and tiny back one, the high-wheeler was a fascinating sight. It had
solid rubber tires—a big improvement over metal. The modern-style bicycle finally
arrived in 1885 in Great Britain. Called the Rover Safety Bicycle, this bike had pedals
set between the wheels and a chain attached to the rear wheel. The bicycle had grown
up.

[II. Bike riding has always been fun. But at first, it wasn’t for everyone.
Before the 1890s, men did all the riding. Many people thought that sports and exercise
were unladylike. This men-only attitude started to change in the 1890s. That’s when
women began riding bicycles. This new activity required new, more comfortable
clothing. The bicycle helped make women freer and more independent. Susan B.
Anthony was a pioneer for women’s rights. In 1896 she stated that the bicycle had
done more for women’s freedom than anything else in the world. Young people
wanted to enjoy the fun and freedom of bicycles too. But for a long time, bikes were
made only in adult sizes. That changed in the late 1910s. Bike makers started to make
kid-size bicycles. It wasn’t long before young people everywhere were zooming along
on bicycles built especially for them.

3. Insert the prepositions (along, to, on, by, for, in) and translate the sentences
into Russian.

1. They pushed the machine  with their feet. 2. This bike had pedals set
between the wheels and a chain attached ~ the rear wheel. 3. It had two metal
wheels connected  a wooden or metal frame. 4. Riders did not sit ___ the bike. 5.
But  a long time, bikes were made only adult sizes. 6. The first bicycle
appeared 1817 _ Paris, France. 7. She was a pioneer _ women’s rights. 8.
This front-wheel drive made  a hard, slow ride over the cobblestone streets of the
day. 9. So she stated that the bicycle had done more =~ women’s freedom than
anything else  the world. 10. It wasn’t long before young people everywhere were
zooming _ bicycles built especially  them.

Variant 8

1. Read the text and translate it using a dictionary if necessary.

The Tube

L. The world’s first subway system was built about 150 years ago in London.
In the mid-1800s, London suffered badly from overcrowding. Cars had not yet been
invented. But tens of thousands of wagons and carriages pulled by tens of thousands of



horses filled the streets. To handle this growing problem, workers built an
aboveground, steam-powered train system around central London. Six railway stations
ringed the city. But the problem wasn’t solved. So the British government announced a
bold new proposal. It would build an underground railway tunnel beneath the inner
city. This system would connect all six aboveground stations. Each passenger could
exit the train at the station closest to his or her downtown destination. This radical plan
made some people nervous. The idea of huge machines rumbling along beneath their
feet led to dark thoughts.

II.  Despite these doubts and fears, construction on the London Underground
began in 1860. Workers used a method called cut and cover. Construction crews cut
down through surface streets. They dug trenches 15 feet (4.6 meters) deep for the train
tunnels and rails. They walled up the sides of the trenches with bricks and roofed them
over with brick and iron supports. Finally, workers rebuilt the streets above. It was not
an easy job. London’s thousands of subway workers had only picks and shovels to dig
with. They did most of the work by hand.

III.  On opening day, January 10, 1863, nearly forty thousand eager passengers
took a ride on the London Underground Circle Line. A few months later, the
Underground was carrying more than twenty-six thousand passengers every day.

IV. Not all passengers enjoyed the ride. The steam locomotives were noisy.
The air in the train cars filled with choking coal dust and sulfur. Electricity eventually
solved the noise and pollution problems. In 1882 in New York City, U.S. inventor
Thomas Edison switched on the world’s first electrical power system. By 1905 the
London Underground was ready to go electric too. Quiet electric train cars replaced
the roaring locomotives. All that coal dust and sulfur vanished too. The London
Underground became the first subway line to operate electric trains.

V.  Through the twentieth century, the Underground kept right on growing.
New routes ran beneath the central city and out to suburbs to the north, south, east, and
west. Workers used a new, improved method to construct them. Now they dug a wide
entrance hole deep into the ground. From there, they hollowed out tunnels beneath the
surface. Gasoline-powered machines burrowed through dirt and rock. The project left
surface streets fully intact. The method was called deep-level tube tunneling. That’s
why Londoners refer to the Underground as the Tube.

VI. In the twenty-first century, the London Underground has 253 miles (407
km) of track connecting 268 stations. It is the longest public transportation system in
the world. Each year more than one billion passengers ride the Tube’s more than four
thousand subway cars. Without this wonder of transportation, London would not be
London.

2. Make up sentences paying attention to the word order and translate them into



Russian.
railway / the city / stations/ Six / ringed /.
would / all / six / connect / aboveground / This system / stations /.
some / radical / made / This / people / plan /nervous /.
crews / surface / cut down / Construction / through / streets /.
5. every day / the Underground / more than / thousand / was carrying /
passengers / A few months later / twenty-six /.

L=

6. train cars / Quiet / locomotives / electric/ replaced / the roaring /.

7. the first subway / The London / became / line / electric trains /
Underground / to operate/.

8. machines / Gasoline-powered / burrowed / rock / through / dirt /.

9.  public / the longest / transportation / It / system / in the world / is /.

10. London / Without/ transportation / be London / this wonder / of / would
not /.

3.. Make up questions to the italicized words.

1. The world’s first subway system was built about 150 years ago in London.
2. The British government announced a bold new proposal.
3. Each passenger could exit the train at the station closest to his/ her

downtown destination.

4. They dug trenches 15 feet (4.6 meters) deep for the train tunnels and rails.

5. London’s thousands of subway workers had only picks and shovels to dig
with.

6. On opening day, January 10, 1863, nearly forty thousand eager passengers
took a ride on the London Underground Circle Line.

7. Not all passengers enjoyed the ride.

8. In 1882 in New York City, U.S. inventor Thomas Edison switched on the
world’s first electrical power system.

9. That’s why Londoners refer to the Underground as the Tube.

10. In the twenty-first century, the London Underground has 253 miles (407
km) of track connecting 268 stations.

11. Tt is the longest public transportation system in the world.

12.  Each year more than one billion passengers ride the Tube’s more than
four thousand subway cars.

Tecmogbie 3a0anua (Opyzasa popma Konmpo.ia)

Variant 1
1.1 found my lost pen while I ... for my pencil sharpener.
a) look c) was looking



b) looked d) am looking
2. When my friend studied abroad, his parents ... him every week.

a) phone c¢) had phoned

b) was phoning d) phoned

3. When I got home I realized that I ... my wallet.
a) lose c¢) had lost

b) lost d) has lost

4. When you ... to the Chinese restaurant next time, what will you eat?
a) go c) goes

b) will go d) would go

5. The man ... by the police yesterday, but he denies robbing the bank.
a) arrest c)is arrested

b) was arrested d) had been arrested

6. It's raining, but if you take your umbrella, you ... wet.

a) don't get c) won't get

b) didn't get d) doesn't get

7. Last year Helen was staying with her brother while her house ... .
a) repaired c¢) was repaired

b) was being repaired  d) had been repaired
8. Cars are fast and convenient. On the other hand they ... problems in cities.

a) cause c) has caused

b) caused d) will cause

9. When I ... up yesterday, I was told this good news.

a) wake c) woken

b) woke d) has woken

10. We ... come to your party, but it depends on our finding a babysitter.
a) may ¢) has to

b) couldn't d) mustn't

11. Our teacher is a reliable person, we ... trust everything to her.
a) shouldn't c) is able

b) can d) must

12. I'll feel ... when my exams are over.

a) happy ¢) more happily

b) happily d) happiest

13. I felt ... because I had fever.

a) badly C) worse

b) bad d) the worst

14. Have you ever seen a film at ... Embassy cinema?
a) - c)anb)a d)the



15. I don't like to have ... animals in my flat.

a)the c) an
b) — d) some
16. Excuse me, could you move. | can't see ... .
a) something ¢) nothing
b) anything d) none
17. ...1s at home and no one knows where they are.
a) Anybody c¢) Everybody
b) Somebody d) Nobody
18. I'd like to thank everybody who has helped me ... this experiment.
a) in c) at
b) on d) with
19. He wanted to borrow my bike ... the weekend but I couldn't lend it to him.
a) to c) for
b)in d)on
20. My cat catches a lot of ... .
a) mouse c¢) the mice
b) mice d) a mouse
Variant 2

1. If I ... lots of money, I'll help the poor.

a) will have ¢) had

b) have d) would have

2. The trouble with you is that you always ... . I don't like it.
a) are complaining c¢) had complained

b) were complaining d) complain

3.1... her a letter and sent it off immediately.

a) had written c) was writing

b) will write d) wrote

4. I'm afraid my hands are a bit dirty. I ... in the garden since morning.
a) have been working  ¢) work

b) was working d) worked

5. By the year 2100 most of the Earth's natural resources ... up.
a) will use c) will have been used

b) will be used d) will be using

6. The first person who ... the finishing line is the winner.

a) crosses c)crossed

b) cross d) will cross

7. My trousers ... ironing. Have you got an iron?



a) needs c) will need

b) need d) had

8. What happens in your class? ... lectures every day?

a) Had the teachers read c) Do the teachers read

b) Did the teachers read d) Are the teachers reading

9. If you ... me a song, I will sing it at the concert.

a) write c) has written

b) will write d) had written

10.1 disapprove of people who ... all sorts of promises which they have no
intention of keeping.

a) made c¢) have made

b) makes d) make

11. When the burglar ran out of the house he ... by a policeman.
a) arrested c) had been arrested

b) was arrested d) would be arrested

12. Ithink you ... practise driving every day to become a safe driver.
a) can't c¢) should

b) might d) has to

13. You ... have my car if you like. I shan't be using it tomorrow.
a) had to C) may

b) are to d) must

14. ... war between these two countries was the longest in history.
a) - c)a

b)the d)those

15. On my way home I saw a terrible fire. Luckily the fire brigade soon came
and put out ... fire.

a)a C) -

b) the d)such

16. There are ... things that money can't buy.

a) any C) some

b) much d) something

17. Helen had to pay extra at the airport because she had too ... luggage.
a) much c) little

b) many d) few

18. There is a newspaper shop ... the end of the street.
a) at c) on

b) in d) by

19. ... we get to the theatre, the play will have started.
a) until C) as soon as



b) by the time d) whenever
20. Nowadays there are many good reasons for using bicycles ... cars to travel
in city centers.

a) instead of c) except for
b) but d) such as
Variant 3

1. An Englishman very seldom ... on the Underground. He prefers to read

newspapers.
a) talk c) is talking
b) talks d) has talked
2. Ifyou ... with the traffic regulations, you will get into trouble with the police.
a) aren't complied ¢) don't comply
b) won't comply d) wouldn't comply

3.1 ... whether you are telling the truth or not and if you are telling a lie, I will
never believe you again.

a) shall know ¢) should know

b)know d)knew

4. Whose horse you ... when I saw you yesterday?

a) were riding c) was riding

b) did ride d) rode

5. Do you know the time? It ... to me it's about two o'clock.

a) seem c) seemed

b) seems d) will seem

6. Tom met me at lunch time and said, "I ... you at the bus stop this morning".

a) haven't seen c) didn't see

b) not seen d) hadn't seen

7. Since my first visit to this city many new houses ... here and it has become
Very noisy.

a) are built ¢) had been built

b) were built d) have been built

8. My doctor says, "A week in the country ... you feel better". I want to follow
his advice.

a) made c) will make

b) has made d) is making 9.1 don't like that she always ... with
you.

a) arguing c) had argued

b)argue d)is arguing

10.1 noticed that it ... all night and everything was wet.



a) was raining c) rained

b) had been raining d) has been raining

11. She ... him your message as soon as she sees him.

a) give c) will give

b) gives d) gave

12. Yesterday I was going home on foot and all the time I had an impression that
I..

a) am followed c) followed

b) was followed d) was being followed

13. ... you remember what you were doing at this time yesterday?

a) can c) must

b) may d) should

14. We moved last week and now we have a much ... flat.

a) good c) best

b) better d) the best

15. The Mediterranean is not as ... as the Pacific Ocean.

a) larger c) largest

b) large d)the largest

16. 1 didn't expect to see him there. He was ... last person I wanted to see.

a) the c)a

b) - d) one

17. 1 didn't know ... answer to that question, so I left it out.

a)the ) an

b) - d) no

18.1 don't go swimming very ... nowadays.

a) many c) few

b) much d) a little

19. Excuse me, there is ... I'd like to ask you.

a) anything c¢) something

b) everything d) none

20. A combination of the use of bicycles ... cheap public transport solves the
problem of traffic jams in large cities.

a) with c) of

b) by d) in

Variant 4

1. There ... several groups of people in Britain that try to protect the
environment.

a) is c) was

b) are d) were



2. Money ... the root of all evil in our life.

a) are c) have been

b) were d) is

3. This time next week I ... on a beach in the Crimea.

a) shall lie c) will be lying

b) lie d) was lying 4.1 just ... some soup. Would you like
some?

a) have made c¢) had made

b) made d) had to

5. Jim told me that he ... in the school basketball team.

a) plays c) will play

b) had played d) is playing

6. Some birds, such as parrots, ... alive and sold as pets.

a) catch c) will be caught

b)caught d)are caught

7. He 1s used to working late at the office. He ... it every day.

a) do c) did

b) does d) will do

8. The boy ... a bicycle along the motorway when he was hit by the car.

a) ride ¢) has been riding

b) rode d) was riding

9. The boy ... to hospital by the driver of the car.

a) was taken c) had been taken

b) took d) will take

10. As soon as the traffic ... the children ran across the road.

a)stop c)stopped

b) had stopped d) will stop

11. How long you ... for me? - For half an hour.

a) are waiting c¢) do wait

b) did wait d) have been waiting

12. People ... prevent pollution of the rivers before it gets worse.

a) could ¢) must

b) need d) had to

13. If you are spoiled as a child you ... have a lot of problems in adult life.

a) must c) could

b) may d) should

14. The more you work the ... you'll pass your exams.

a) good c) best

b) better d) the best



15. In Britain you officially become ... adult on your eighteenth birthday.

a) the C) -

b) an d)a

16. What plant does your father work at? - He works at ... plant down the road.
a)a C) -

b)the d)those

17. Shall we have ... dinner today? - Don't worry, at the end of the conference
they will serve a dinner.

a) - c) the

b)a d) an

18. Whose spectacles are these? - ... are on the table, and these are my
spectacles.

a)your c) our

b) yours d)their

19. Most visitors to Britain aren't used to driving ... the left and have a lot of
problems.

a) to c)in

b) at d) on

20. Don't forget to thank Martin ... coming. He risked his life to get there.

a) in c) at

b) by d) for

Variant 5

1. My mother is ill. She will stay in bed until she ... better.

a) get c) will get

b) gets d) is getting

2. When he lived in London, he ... a lot of time in the muse ums.
a) spend c)spent

b) had spent d) was spending

3.1... by the door for a long time until someone opened it.
a) wait c) waited

b) am waiting d) had been waiting

4. It's raining. I hope you ... your car outside.

a) won't repair ¢) didn't repair

b) don't repair d) were not repaired

5. In two years' time my parents ... for twenty-five years.
a) will be married ¢) are married
b) will have been married d) have been married



6. They said they would not work after 6 p.m. if you ... them overtime.

a) won't pay c) didn't pay

b) don't pay d) not pay

7. When I ... her, I waved her, but she didn't noticed me.

a) had seen c) see

b) saw d) have seen

8. Where were you at about three yesterday afternoon? -Oh, I ... my car at that
time.

a) was repairing c¢) had been repairing

b) repaired d) had repaired

9. My sister will not finish medical training until she ... twenty-tree.

a) will be c) have been

b) is d) are

10. Do you know what you ... in your life by the year 20207

a) will achieve c¢) will have achieved

b) achieve d) will be achieved

11 What a surprise! There ... a fall in the cost of living lately-

a) has been c) will be

b) had been d) was

12.1 decided to have some English lessons so that I ... practise when I come to
the US.

a) can c) may

b) must d) should

13. If you telephone early next week, the secretary ... give you your exam
results.

a) must c) may ,

b) can d) will be able to

14. The man said to me, "Just don't park your car ... my gate again. O.K.?"

a) far c) behind

b) nearly d) in front of

15. ... young nowadays have a very cynical attitude to the police.

a) the Cc) an

b)a d) -

16. ... old people sometimes feel lonely.

a) - c) an

b) the d) this

17. The government is going to provide ... houses for homeless people.

a) most c) few

b) much d) more



18. ... 1s wrong with the car, and it won't start.

a) anything ¢) nothing

b) something d) everything

19. Prices go up and up. Everything gets ... expensive.

a) most c) more

b)least d) less

20.1 won't do the job ... being paid for it.

a) with c¢) without

b) out d) by

Variant 6

1. The passengers were tired because they ... all night.

a) didn't sleep c) don't sleep

b) hadn't slept d) won't sleep

2. Where is your umbrella? - Oh, it seems to me I ... it on the bus.
a) left c) had left

b) have left d) will leave

3. Bill said that he ... the tickets for the performance the day before.
a) had bought c) was buying

b) bought d) would buy

4. She said she didn't know where her friend ... .

a)is c) has been

b) was d) will be

5. When we reached the theatre, there ... any tickets left.

a) wasn't c) hadn't been

b) were not d) aren't

6. When I finally found the house and knocked at the door, I ... no answer.
a) heard c¢) didn't hear

b) have heard d) won't hear

7.1 don't know where Susan is. Maybe she ... in the garden reading a book.
a) sits c) was sitting

b) is sitting d) will be sitting

8. My brother ... when I use his computer without asking.

a) doesn't like c) don't like

b) didn't like d) like

9. You can have the book on Monday. I ... it by that time.

a) read c) will be reading

b) will read d) will have read

10. Unless we leave now, the film will have started when we ... there.
a) get c¢) would get



b) will get d) got

11. When we ... home last night we saw a lot of stars twinkling in the sky.

a) drove c) are driving

b) drive d) were driving

12. Many species of animals are threatened, and ... easily become extinct if
people do not make an effort to protect them.

a) can c¢) might

b) must d) have to

13. Last week we ... write an essay about the causes of the French Revolution.
a) must c) may

b) could d) had to

14.1 think the film was terrible! It was ... film I have ever seen.

a) terrible c¢) most terrible

b) more terrible d) the most terrible

15. Nobody in our group knows ... about England than Peter does.

a) much ¢) most

b) more d) the most

16. My mother wants me to play ... piano, but I want to buy a guitar.

a) the c) -

b)a d) mine

17. Thad ... wonderful dream last night. I wish it would come true.

a)a C) -

b) the d) such

18. They say that in future the officials will demand a fine if ... breaks the law.
a) everyone C) someone

b) everybody d) all

19. When we arrived ... the station, we ate a sandwich, drank a cup of coffee and
waited for the train.

a)to c)in

b) at d) for

20. If the weather is fine tomorrow, I'll go ... a cycle ride.
a) at c) by

b) on d) for

Variant 7

I'm sure I ... the door of my house.
a) lock c¢) have locked
b) locked d) had locked



flat.

The inspector suspects that the thief ... a special key for opening this safe.

a) will use c¢) had used

b) has used d) use

3. When are you going to finish this translation? - I... it by tomorrow.
a) will finish c) will have finished

b) will be finishing d) would finish

4. Have you heard the news? I ... my last exam yesterday.

a) passed c) had passed

b) have passed d) was passing

5. He says that he doesn't know where he ... after graduating from university.
a) work c¢) had worked

b) will work d) would work

6. When you ... older, you will understand everything.

a) grow c) will grow

b) grows d) have grown

7. As a rule the most important news ... broadcast on this channel.

a) are c)is

b) were d) had been

8. There ... hardly any furniture in his room. He hasn't even a chair to sit on.
a)is C) were '

b) are d) have been

9. The rich collection of Hermitage regularly ... millions of people.
a) attract c) have attracted

b) attracts d) would attract

10. When my mother returns home she ... at once that we have redecorated our

a) will see c) has seen

b)sees d)saw

11. He ... the car for many hours before he came to the crossroads.
a) drives c¢) had been driving

b) was driving d) has driven

12. We ... along the forest road when it started raining.

a) were walking c) walked

b) had been walking d) had walked

13. Sorry, I ... stay any longer, but I really must go home.
a) mustn't c) cannot

b) couldn't d) may not

14. This is ... problem I've ever had in my life.

a) difficult ¢) most difficult



b) more difficult d) the most difficult
15. When ... "Titanic" was crossing the Atlantic she struck an iceberg.
a) - c) the

b)a d) an

16. The weather is fine today, but I don't like ... hot weather.
a) - c)a

b)the d) an

17. Some women tint their hair when ... goes grey.

a) they c) its

b) it d) them

18. Your news ... very important to us.

a) are c) aren't

b) is d) were

19.1 think it's important ... young people to get a good education.
a) for c) about

b) by d) among

20. They left ... Moscow some years ago and live there now.
a) to c) for

b) in d) at

Variant 8

1. Before I came to the office the manager already ... the documents.

a) signed C) was signing

b) had signed d) will sign

2. Peter ... his TV-set when I came to see him yesterday.
a) repaired C) was repairing

b) had been repairing  d) has repaired
3.1 hoped that my article ... in this magazine soon.
a) will be published c¢) would have been published

b) would be published  d) would publish
4. If you ... hard, you will enter the university.

a) work c) are working

b) will work d) have worked

5.1 ... him for three years. I wonder where he is.
a) didn't see c) don't

b) haven't seen d) hadn't

6. My mother ... in this school for twenty-five years.
a) is teaching c) has been teaching



b)taught d) teaches
7.1 want to post this letter, but I ... to go out in the rain.

a) don't want c¢) hadn't wanted

b) didn't want d) not want

8.1 need the car to get to the match. I ... on Sunday.
a) played c) have played

b) am playing d) have been playing

9. My neighbour used to be such a hard worker, but now he ... interest in
everything.

a) lose c) has lost

b)loses d) lost

10. I'm so sorry. The camera which you lend me ... .

a) break c) had been broken

b) broken d) has been broken

11. Yesterday I ... finish the work because I was very tired.
a) could c) can't

b) couldn't d) mustn't

12. Last week he said I ... use the car at the weekend but now he won't let me
after all.

a) can c) was able to

b) could d) must

13. I'm afraid I can't do it ... than you.

a) good c) best

b) better d) the best

14. Be quiet! I don't want to discuss the matter any ... .
a) more c) the most

b) most d) much more

15. ... people cannot live without water and air.
a) the c)a

b) - d) this

16. Before her marriage she lived in London, where she worked for ... National
Gallery.

a) - c)a

b)the d)that

17. Haven't you read ... by Shakespeare?
a) something ¢) nothing

b) anything d) none

18. Something is wrong with my umbrella. May I take ...?
a) yours c) her



b) your d) their
19. Have you ever been ... England?

a) in ¢) into

b) for d)to

20. Tom has had to give ... playing football since he broke his leg.
a) in c) at

b) on d) up

Variant 9

1. The Statue of Liberty ... by Gustave Eiffel.

a) design c) was designed

b) designed d) have been designed

2. Where are your brothers? - They ... a swimming-pool in our garden.
a) are digging c¢) were digging

b) dig d) have been digging

3. How do your parents like their new house? - My mother likes it, but my father
... our old one.

a) miss c) missed

b) misses d) doesn't miss 4.1 didn't believe that you ... short of
money.

a) are c) were

b) is d) have been

5. Actually it's a very friendly dog. If you ... it, it won't bite you.

a) won't touch ¢) didn't touch

b) haven't touched d) don't touch

6. The town of Kestwick, which ... at the heart of the Lake District, is the
perfect place for a holiday.

a) laid c) is lying

b) lies d) lay

7. We ... forward to a concert in our town. It is next Sunday.
a) looks c)are looking

b) looked d) were looking

8. The picture, which ... lately, is worth thousands of pounds.
a) damage c) has been damaged

b) damaged d) was damaged

9. The scientist who ... a new planet has won the Nobel Prize.
a) had discovered ¢) has been discovered

b) discovered d) was discovering



10. ... we have something to eat? - Yes, but not here.

a) will c) do

b) would d) shall

11. My mother always moves my books around so I ... find them.
a) can't c) wasn't able

b) couldn't d) may not

12.1 don't like the cafes that don't have chairs and people ... eat standing up.
a) can c) may

b) could d) have to

13. There is a big hotel in the middle of ... park.

a)a C) -

b) the d) these

14. ... towns which attract tourists are usually crowded in summer.
a) - c)a

b) the d) this

15. Be sure to pick ... tomatoes before they get too ripe.

a) this ¢) much

b)that d)these

16. I suppose people are spending now ... money than they used to.
a) much c) fewer

b) many d) more

17. Was it exciting buying a car? - Well, it was a bit of a problem because I
didn't have ... money to spend.

a) many ¢) most

b) much d) few

18. Once I hated flying, but now I feel ... nervous about it.

a) most c) less

b) least d) little

19. The trouble ... my father is that he never relaxes.

a) of c) about

b) with d) out

20. What did you buy this computer magazine ...? - To read about business
software.

a) at c) on

b) in d) for

Variant 10



1. All my money ... on the way to the airport yesterday and I couldn't fly
anywhere.

a) were stolen ¢) has been stolen

b) have been stolen d) was stolen

2. This company ... millions on computers but it doesn't seem to become more
efficient.

a) spent c) will spent

b) had spent d) has spent

3. We had to wait until the light ... to green.

a)change c)changes

b) will change d) changed

4. 1 head the news on the radio while I ... home yesterday evening.
a) drive ¢) had driven

b) was driving d) drove

5. Before I left the house it ... to rain and I had to take my umbrella.
a) started c¢) had started

b) would start d) start

6. I was surprised that you ... the football match on television.

a) hadn't watched c¢) don't watch

b) haven't watched d) aren't watching

7. When Columbus landed on San Salvador, he ... where he was.
a) knew c) doesn't know

b) didn't know d) hadn't known

8. At one time people believed that Columbus ... America.

a) discovers c¢) had been discovered

b) discovered d) had discovered

9. The talks ... in London next week to discuss some problems of terrorist
activity.

a) is held c¢) would be held

b) will be held d) hold

10. Didn't you ... this horror film last night? - No, I hate such films.
a) saw C) see

b) seen d)seeing

11. Who ... this ice-cream? - Oh, it's mine. I'm just going to eat it.
a) didn't eat c) doesn't eat

b) don't eat d) hasn't eaten

12. The new building looks awful. - I agree. It ... very nice.

a) didn't look c) hasn't looked

b) doesn't look d) won't look



when

13. "You ... spend your free time on playing football", my mother used to say

travel.

night.

I was a schoolboy.

a) needn't ¢) couldn't

b) mustn't d) can't

14. You needn't wear your best clothes. You ... what you like.

a) can wear c) might wear

b) must wear d) need wear

15. I think ... people look after their cars better than young people.

a) elderly c) elder

b) older d) oldest

16. What are you going to do after you finish ... college, Rachel? — I want to
a) - c)a

b)the d) an

17. There's been a lot of talk about ... 'spaceship' seen over our town on Sunday
a) - c)a

b)the d) an

18. ... 1s a new one-way traffic system in the city center. It's very confusing.
a) this c) it

b)that d)there

19. ... of these magazines would you like? - This one, please.
a) what c) why

b) how much d) which

20. They will come ... the three o'clock train.

a) on c) with

b) at d) by



Variant 1
1. Nick said that he ... up smoking the week before.

a) gave c) was giving

b) had given d) would give

2. Thanks for your letter. Your news ... very interesting.

a) was c) will be

b) were d) have been

3. I wanted to buy a new ring but I ... my credit card at home.
a) left c) had left

b) leave d) have left

4. My father ... more than my mother for the same work.

a) pays c) is paid

b) paid d) is being paid

5. The company ... some land, but it's going to sell it.

a) has bought c) will buy

b) had bought d) buys

6. Irang my friend in London yesterday and he said it ... heavily there.
a) is raining c) has been raining

b) was raining d) had been raining

7. No one told me that the goods ... the week before.

a) would arrive c¢) had arrived

b) arrived d) was arriving

8. A number of attempts ... to find the Loch Ness monster lately.
a) have been made c) made

b) were made d) will make

9. He ... this trip for months. He is leaving on Sunday.

a) plans ¢) has planned

b) is planning d) has been planned

10. If you ... the music too loud, you'll wake up the neighbours.
a) will play c¢) have played

b) play d) played

11. You ... spend all your money as soon as you've earned it.

a) can't c) couldn't

b) mustn't d) shouldn't

12. This cheque ... be signed only by the manager of your company.
a) can c) have to

b) may d) must

13. Your new car looks very ..., I must say.
a) nicely ¢) beautifully



b) nice d) strangely
14. The book was ... than the film I saw last week.

a) exciting c) the most exciting

b) most exciting d) more exciting

15. How ... does this dress cost? — I don't know. It's a present.
a) many c) money

b) much d) a lof

16. You can apply for a ... job when you've had more experience.
a) best C) worse

b) better d) worst

17. People don't know what ... future will be.

a) the c)a

b) - d) these

18.1 went to ... British Museum several times when I was in London.
a) the c)a

b) - d) that

19. There is a problem ... our TV-set, it breaks very quickly.

a) at c) over

b) on d) with

20. Don't worry ... your job prospects. Everything will be all
right.

a) with c) about

b) for d) over

Variant 2

1. My sister ... interested in medicine ever since she was a

child.
a)is c) has been
b) was d) will be

2. When I started working for this company, I ... an architect for six years
already.

a) has been c) was

b) had been d) have been

3. I'll take the decision after I ... to the manager.
a)speak c) has spoken

b) will speak d) spoke

4. Look! That window just ... again!
a) has broken c) has been broken



b) broke d) break
5. This cafe used to be much ... before they opened the new one next door.

a) popular ¢) most popular

b) more popular d) the most popular

6. My company has treated me well, and given me ... chance to succeed.
a) every c)each

b) all d) either

7. There may be no need to go to school in the future, since everyone will have a
computer ... home.

a) - c)in

b) at d) for

8. The pilot ... land the plane on only one engine.

a) could ¢) must

b) was able to d) need

9. ... marriages end in divorce these days.

a) many c) few

b) much d) a few

10. You have to learn to accept ... ups and downs of life.

a) the c)a

b) - d) this

11. Belarus has always been rich in ... talented and gifted people.
a) an c) the

b)a d) -

12. Where ... my scissors? I can't find them.

a)is c) was

b) are d) has been

13. I don't believe in ghosts, so I'm not afraid ... them of course.
a) of c)in

b) at d) -

14. The two Prime Ministers ... discuss the current economic crisis tomorrow.
a) can ¢) has to

b) may d) are to

15.1 think he was lonely because he had ... friends and none of his neighbours
ever spoke to him.

a) few ¢) many

b) a few d) much

16. The journey to Paris had taken much ... before they built the Channel
Tunnel.

a) longer c) long



b) the longest d) longest
17. A small sum of money ... from the cash some days ago and nobody knows
who did it.

a) steal c) is stolen

b) stole d) was stolen

18. Man ... first in East Africa.

a) 1s discovered c) discover

b) discovered d) was discovered
19. Why are you so dirty? - I ... in the garden.
a) dig c) was digging

b) dug d) have been digging
20. Next summer we ... here for 20 years.

a) will live c) will be living

b) will have been living d) are living
Variant 3

1. What are you looking for? - I'm afraid I ... my key.

a) lose c) losing

b) lost d) have lost

2. She took this decision after she ... to the manager.

a) spoke ¢) had spoken

b) was speaking d) would speak

3. I... nervous since morning, but this feeling vanished as soon as I saw her.
a) was feeling c) feel

b) have been feeling d) had been feeling
4. The second prize ... to an unknown author from India at yesterday's
celebration.

a) awarded c¢) will be awarded

b) was awarded d) is awarded

5. I'm going to see ... of this city.

a) the sight c) a sight

b) the sights d) sight

6. ... teachers have complained about his behaviour at school.
a) much C) some

b) the most d) any

7. It would be difficult to imagine life without ... telephone.

a) - c) an

b)a d) the



8. Nobody nowadays thinks that women ... just stay at home and look after the
children.

a) are to c) might

b) has to d) should

9. When I was a teenager, | argued ... my brother and sister all the time.
a) at c) on

b) with d) by

10. I think that we are not making as ... profit as we should do.

a) much c) little

b) many d) few

11. "I ... a convincing explanation of your absence yet", the teacher said.
a) not hear c) haven't heard

b) don't hear d) hasn't heard

12. She thinks she ... more forgetful as she grows older.

a) get c¢) would get

b) gets d) 1s getting

13. This is the first time I ... late for my English lesson.

a) am c) has been

b) was d) have been

14. It seems that they already ... everything without consulting us.
a) have decided c) decided

b) had decided d) decide

15.1 don't think you ... to show your passport there.

a) ask c) will be asked

b) will ask d) asking

16. Happiness is not ... inevitable result of having money.

a) - c) the

b)a d) an

17.1 am afraid there are ... vacancies in the company at present.
a) not ¢) neither

b) none d) no

18.1 ... give you permission for going there, I'm afraid.

a) doesn't have to c¢) might

b) can't d) am not to

19. The tourists were not aware ... the danger of bandits in the hills.
a) in c¢) under

b) of d) during

20. She has ... smile I have ever seen. That's what attracts people to her.
a) beautiful c) the most beautiful



b) more beautiful d) less beautiful
Variant 4

1. He ... for several hours and needed a rest.

a) was driving c¢) had been driving

b) drove d) had driven

2. Somebody is at the door. - I ... to see who it is.

a) go c) will be going

b) will go d) will have gone

3. The boy is going to be a scientist when he ... up.

a) grow c) will grow

b) grows d) will have grown

4. By the time she qualifies, she ... law for 5 years.

a) will study c¢) will have been studying

b) will be studying d) study

5. This old house on the corner ... down in two weeks.

a) will knock c¢) will have been knocked

b) will be knocked d) knocked

6. It was a film about ... life of a polar explorer.

a) - c) an

b)a d) the

7. They met in May and it was then ... he fell in love with her.

a)that c)there

b) than d)this

8. I don't agree that the unemployed ... receive more help from the state.

a)can c¢)should

b) may d) has to

9. Being a nurse 1s not as ... as being a doctor.

a) more interesting c) less interesting

b) interesting d) most interesting 10. We arrived ... England at
Gatwick Airport.

a) to c)in

b) for d) at

11. Don't worry, the sun ... our clothes by the time we get home.

a) will dry c) will be drying

b) will have dried d) dry

12. Traditional English afternoon tea ... rare nowadays, although the English are
ready for a cup of tea at any time of the day.



a) is c) has been

b) was d) will be

13. My father who ... recently spends all day reading the newspapers.
a) retired c) retires

b) has retired d) will retire

14. Much that has just been said ... soon.

a) forget c) will have been forgotten

b) will forget d) will be forgotten

15. There ... interesting news in today's newspaper.

a) are c) have been

b) is d) were

16.1 saw two films yesterday, but I didn't like ... of them.
a) neither c) none

b) no d) either

17. The judge sent him to ... prison for ten years.

a) - c) the

b)a d) an

18. ... you tell me if this bus goes to Heathrow Airport?
a) must c) may

b) should d)could

19. Last year I stayed for a few days in an old house in Scotland which was
famous ... its ghosts.

a) by c)about

b) at d) for

20. Your car costs ... than mine but it is more beautiful.
a) little c) the least

b) less d) fewer

Variant 5

1. ... youstill ... or have you found a job already?

a) are studied c¢) have studied

b) are studying d) have been studying

2. Any advice that the Queen may offer the Prime Minister ... secret.
a) keep c) is kept

b) are kept d) was kept

3. Members of British Parliament ... salaries since 1911.
a) paid c) are paid

b) have been paid d) were paid



4. 1 decided to change from central London to the suburbs because it ... so
expensive to live there.

a) become c) will become

b) have become d) has become

5. The teacher asked her pupils where they ... to spend their holidays.

a) are going c) will be going

b) were going d) have been going

6. As you can see from the letter I ... my address and live in Oxford now.
a)change c¢) have changed

b) changed d) had changed

7. This time next week I ... on the beach in Spain.

a) lie c) will be lying

b) will lie d) will have been lying

8. Living in the country is ... than in a big city.

a) less expensive c) the least expensive

b) most expensive d) expensive

9.1 would like to meet ... you and thank you for your help.

a) with c) by

b) at d) -

10. Every time I go to the supermarket I ask ... why I go shopping so often.
a) my c) mine

b) myself d) they

11. It rains every day. If you ... the television with you, you will have nothing to
do there.

a) not to take c) won't take

b) don't take d) aren't taken

12. The British Queen is certainly one of ... women in the world.
a) rich c) the richest

b) richer d) not rich

13. In 1979 Margaret Thatcher became ... first woman Prime Minister, yet she
never appointed a woman in her Cabinet.

a) - c)a

b) the d) an

14. A passer-by asked if it ... the right road for Hastings.

a)is c) has been

b) was d) will be

15. Excuse me, ... [ borrow your newspaper, if you are not reading it?
a) must c) might

b)can d)should



16. Bill said that he ... for me outside when I got to the station.

a) will be waiting c) 1s waiting

b) would be waiting d) waits

17.1 need some time to think about ... offer you made me.
a) - c)a

b) the d) an

18. We can't go by train. The train-drivers are ... strike.
a)on c)for

b) in d) at

19.1 think that he was lonely because he had few friends and ... of his
neighbours ever spoke to him.

a) neither c) none

b) either d) no

20. After oil ... under the sea near the Welsh Coast, Britain has become self-
sufficient in this energy source.

a) discovered c) will be discovered
b) was discovered d) is discovered
Variant 6

1. There is a problem when you forget where dreams end and ... real world

begins.
a) - c) the
b)a d) an
2. Do you often put ... until tomorrow what you could do today?
a) of c) down
b) on d) off
3. Is it important to you to succeed ... your career?
a) at c) for
b) in d) because of
4. My mother passed her driving test yesterday. She ... to drive for two years.
a) learn c) has been learning
b) was learning d) had been learning

5. Pubs are often ... places to eat well and cheaply in Britain, and they also try to
serve tasty British food.

a) well c) the best

b) better d) most

6. ... we recommend you our favourite places to eat in Minsk? - It's very kind
of you.

a) Must c¢) Ought



b) Can d) May

7. They say that ... British eat only traditional British food in their homes.

a) - c) the

b) a d) an

8. Surely food is as ... a part of our culture as our landscape, our language, and
our literature.

a) many c¢) the most

b) more d) much

9. From the time of ... Roman invasion foreign trade was a major influence on
British cooking.

a) - c)a

b)the d) an

10. English kitchens, like the English language, absorbed ... ingredients from all
over the world - chickens, rabbits, apples, and tea.

a) the c)a

b) - d) an

11. The British always ... food from abroad.
a) import c¢) have imported
b) has imported d) imported

12. We live in a global village, but how ... do we know and understand each
other?

a) good c) best

b) better d) well

13. In the Middle East you ... take care not to admire anything in your hosts'
home. They will feel that they have to give it to you.

a) must ¢) should

b) can d)could

14. You should not expect the Japanese to shake ... . Bowing the head is a mark
of respect in Japan.

a) hand c) a hand

b) hands d) the hands

15. In Japan the first bow of the day should be ... than when you meet thereafter.
a) low c) lowest

b) the lowest d) much lower

16. We ... for three hours when we saw the house in the distance.

a) drive c) drove

b) were driving d) had been driving

17. When they got outside, the rain ... already to snow.
a) turn ¢) has turned



b) had turned d) would turn

18. Agatha Christie ... at home. She didn't go to school.

a) has educated c¢) had educated

b) had been educated d) was educated

19. Agatha Christie is possibly the world's most famous ... writer.

a) historical c) detective story

b) short story d) criminal story

20. Pablo Picasso didn't like going to school unless he was allowed to take one
of his ... pigeons with him.

a) father's c) fathers
b) fathers' d) father
Variant 7

1. What is the world's biggest office? - I think ... Pentagon is the largest office in
the world.

a) - c)a

b) the d) an

2. They ... across a field when they were attacked by a bull.
a) walked c) had been walking

b) have been walking d) were walking

3. He ... for a job for months, but he could find nothing.

a) looked c¢) had been looking

b) was looking d) has been looking

4. John felt tired. He ... all day to prepare for the party.

a) worked c¢) was working

b) had been working d) has been working
5. ... of the guests have arrived yet.

a) None c) Either

b) Neither d) Somebody

6. ... people go to the cinema these days. They prefer to see films at home.
a) Fewer c) Little

b) Less d) The least

7. ... policeman in the country is looking for the killer.

a) Each . c¢) Everybody

b) Every d) All

8. What I like about London is the fact ... it never sleeps.

a) that c)then

b) than d)because



9. I found it difficult to get around London when I first came, but I ... to it now.

a) used c) use

b) am used d) have used

10. Born in Holland in 1853, Vincent Van Gogh is one of the world's most
famous ... .

a) writers c) painters

b) poets d) musicians

11. There aren't many people at the stadium now, ... ?

a) are they c) are there

b) aren't there d) aren't they

12. She works harder than I ... to work at her age.

a) used c¢) was used

b) am used d) had used

13. ..., whose real name was William Sydney Porter, was an American short
story writer.

a) J. London c¢) 0. Henry

b) E. Hemingway d) G. B. Shaw

14. The greatest English playwright and poet William Shakespeare was
buried in ... .
a) Stratford-on-Avon  c) Westminster Abbey

b) London d) Poet's Corner

15. If you ... in a warmer climate, you won't get so many
colds.

a) live c) have lived

b) will live d) will be living

16. He told her not to eat it, explaining that there ... a risk of food poisoning.
a) is c¢) will be

b) was d) has been

17. What is the antonym to the word "small"?

a) tiny c) large

b) poor d) little

18. She said to me, "I saw this film yesterday".

a) She said that I had seen that film the day before.
b) She said that she saw this film the day before.

c) She said that she had seen this film yesterday.

d) She told me she had seen the film the day before.
19. I'm sorry, I'm late.

a) Don't mention it. c¢) That's OK.

b) Not at all. d) Here it is.



20. Where have you been? Your clothes ... wet and dirty.

a) are c) has been

b) is d) will be

Variant 8

1. The first person who ... chocolate to Europe was Cortes, who was an explorer.
a) brings c) brought

b) has brought d) had brought

2. It isn't clear how far the ozone layer ... by aerosol sprays.
a) is damaged c) was damaged

b) has been damaged d) damaged

3. The rich should pay ... tax than the poor.

a) more c) least

b) less d) most

4. My brother ... interested in medicine since he was a child.

a)is c) has been

b) was d) had been

5. We arrived ... England at Gatwick Airport at 9 o'clock yesterday.
a) to c) at

b)in d)for

6. This cafe used to be much ... before they opened the new one next door.
a) popular c¢) most popular

b) more popular d) the most popular

7. Next May they ... with this team for ten years.

a) will play c) will be playing

b) will have played d) will have been playing

8. Don't start reading the other books until you ... this one.

a) have finished c) will finish

b) finishes d) will have finished

9. Belarus has always been rich in ... talented and gifted people.

a) the c) -

b)a d) an

10. A small sum of money ... from the cash today, and nobody knows who has
done it.

a) steal c) was stolen

b) has stolen d) has been stolen

11. Jane (recover) yet? No, she still (be) in hospital.

12. If he goes (on, by) car, I'll join him.

13. How (much, many) does this coat cost?

14. Would you like (a, the, —) glass of milk?



15. He (live) in Spain when he was a child.

16. Alice (not, go) to work by bus, she lives near her office.
17. What you (do) when Ben phoned?

18. They (move) into their new flat yet?

19. Do you know what they (discuss) now?

20. The problem was (serious) than we expected.

Variant 9

. My friend didn't make (some, any) mistakes in his test.

. What (a, the, -) boring film! It's the most boring film I ever (see).
. I'll be surprised if you (pass) your exams successfully.

. Look! The bus (be) completely empty. There (be) nobody on it.

. Nancy (look) like her father.

. If you take the medicine, you (feel) better.

. Linda (wait) for the bus when I saw her.

. This car is expensive to run. It uses (much, many) petrol.

. How long you (know) him?

10. Excuse me, I (look) for a phone box. Is there any around here?
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. When you (return) home, you will see a lot of changes.
. What you (do) when your mother called you?
. They (speak) only English in class.
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. There are (many, a lot, few) of tourists visiting our town in summer.
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. We need money for the bus. How (many, much) have we got?
. A big car (use) a lot of petrol.

. I'was very surprised when I (meet) him there.

. What time do you come (7o, at, in, -) home from school?

. I closed the door quietly because he (try) to sleep.

. I thought the film (be) a big success
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Variant 10

1. We've been invited (for, from, to) a wedding.

2. He often visits his parents on (-, @, the) Sundays.
3. Students often (zhink) that exams are a nuisance.
4. When the water (boil), turn off the gas, will you?
5. Ann (not, recover) yet. She is still in hospital.

6. When they (get married)? - Last year.

7. 1t still (rain).



8. - Who told you about it? - A friend of (mine, my).
9. She is (good) secretary that has ever worked here.
10. We (arrive) ten minutes ago.

11. You (read) any of Shakespeare's plays?

12. Somebody (use) my computer at the moment.
13. They (ask) me some questions at the yesterday's interview.
14. She told me that you (be) ill.

15. It costs (many, much) to repair a car.

16. I know (nothing, anything) about Economics.
17. As soon as I (hear) the results, I'll let you know.
18. Where is Stella? - She (play) tennis in the park.
19. Cats (not, like) water.

20. I didn't understand what she (mean) at first.

V cemecTp
Variant 1

1. Translate the words given in the box into English:

paboTonarenb, NOpUObLIb,  CYIIECTBOBATh, AaKIMOHEP, OTBETCTBEHHBIMH,
NpuU3HaBaTh, CONEPHUYATh, MPEAOCTABIATh paboOTy, O0A0OpeHue, TMO3BOJIATH,
pearupoBark.

Fill in the blanks with the appropriate word and translate the sentences.

1. We were waiting for ... for our project. 2. He sold his house ata ... . 3. You
should talk to the ..., if you want to get a job. 4. Jim ... with the world's best runners
in the Games, and did well to come third. 5. He ... that he was not qualified for the
post. 6. According to statistics, young drivers are ... for about two-thirds of all
accidents. 7. The doctor will not ... Mother up until her leg is better. 8. She ... to the
news by bursting into tears. 9. We cannot ... without oxygen. 10. A person who owns
stock in a company and is eligible to share in profits and lossesisa ... . 11. She ... asa
teacher.

2. Match the word combinations on the left with their translation on the right.

1. to issue (bonds, stock) a)  MOXYYUTH MOJIEPHKKY OT KOTO-THOO

2. to make up losses b)  mpuUHUMAThL 3aKOH

3. to operate for profit C) yCTaHaBJIMBaTh CTaHIAPT

4. to pass a law d)  Bbimyckarh (OOIUTAIINM, AKITUH)

5. to perform a function €)  TpeanuchHBaTH YCTAHOBJICHHE CTaHAApTa

(0 3aKoHE)



6.  to prescribe a standard ) paboTaTh C IENbI0 U3BJICUEHUS TPUOBLITH
7. to produce services g)  CTaIKHUBATBCS C TPYIHOCTSIMHU

8.  toreceive support (from)h)  kKommeHCHpOBaTH MOTEPU

9.  toruninto difficulties 1) OKa3bIBaTh YCIYTH

10. to setastandard ) BBINIOJIHATD (DYHKIUIO

3. From the adjectives listed below form the nouns with the suffix -(i)ty and
translate them into Russian.

able, reliable, safe, commune, active, compatible, difficult, major,

secure (2), stable, visible, profitable, possible, integral, responsible.

Fill in the blanks with the appropriate noun and translate the sentences. The first
one is done for you.

1. Each man will be paid according to his ability. 2. All planes were landed
because of poor .... 3. Supplying necessary equipment for the test was the ... of
laboratory assistants. 4. The main problem is the project’s low economic .... 5.
Before installing this equipment you had to do a ... test. 6. He has enough ... to cope
with the job. 7. Railway track must be regularly maintained to provide ... and ... of
train movement. 8. Police, fire and emergency medical services are using modern
communications to provide public ... in the .... 9. Business ... was paralyzed because
of blackout. 10. ... rule is a political principle providing that a ... of an organized
group shall have the power to make decisions obligatory for the whole group.  11.
The true function of the root is to give ... to the tree. 12. There's a strong ... that the
concert will be canceled. 13. He is in serious .... 14. Nowadays information ... is
problem number one for many businesses. 15. Computer ... specialists help protect the
... of the huge information banks being developed by businesses and the government.

Variant 2

1. Translate the following sentences from English into Russian paying attention
to the underlined adverbs.

1. Bulk cargo generally consists of goods that are of low value in proportion to
their weight. 2. Bulk goods can be conveniently taken on and off by means of gravity,
suction, conveyor belts, pipes, etc. 3. Dry bulk goods are often moved in specially
designed containers. 4. In autumn the grain from the fields is handled more efficiently
by trucks, therefore highway trucking organization become very important. 5. General
cargo usually consists of goods that have a high value in proportion to its weight. 6.
General cargo transporting is less easily mechanized. 7. Commonly dry goods are not
packaged in bags or bales. 8. Sugar is increasingly being transported in bulk. 9. A
truck can be driven directly to a destination area. 10. Earlier there were more than
20,000 daily intercity passenger trains in the United States.



2. Read the text replacing the Russian words with their English equivalents.

Metroliner was a (ckopslit moe3n) operated by the major national train company
in the USA, known as Amtrak. The line was opened for (mBmwkenue) in 1969. It
(meiictBoBath) between New-York and Washington and (oGcnyxuBaTh) many cities,
towns and rural areas up to 2006. The train consisted of six (motopBarons) and was
capable to (pa3zBuBath) the speed of 265kmh. (MapmpyTt) passed through Baltimore,
Wilmington, Philadelphia. A (noe3aka) between New York's Pennsylvania Station and
Washington, D.C.'s Union Station took approximately 3 hours.

3. The verb to handle can be used with different nouns, hence a variety of its
meanings. Try to guess the meanings of this verb and translate the sentences.

1. Finland has been handling rail transportation to Russia for over 50 years. 2.
Finnish rail transportation and forwarding companies have decades of experience in
handling business between East and West. 3. Modern load handling equipment ensures
the rapid transit of cargo from port to train. 4. This mainline handles more than 30
million gross tones a year and 20 passenger trains a day. 5. This kind of cargo can be
handled by truck. 6. Sugar formerly handled only in bags. 7. I don't know if I can
handle the job. 8. Don’t you see the warning on the box with china — “Handle with
care! “ 9. She handles the horse very easily. 10. The lawyer handles all my affairs. 11.
The chief information officer (CIO) of a company is responsible for handling
information security problems of an entire corporation. 12. 5. The finance department
handles all the accounts. 13. A special licence is required for the manufacture or
handling of any dangerous chemical. 14. The President has been much criticized for
his handling of the crisis. 15. A dispatcher handles the flow of information, people,
and equipment from a centralized headquarters.

Variant 3

1. The suffix -able/-ible is used to form adjectives from nouns and verbs:
comfortable, suitable, flexible. Quite often, -able/-ible is equal to can be done. For
example: stackable, reliable, washable.

A. Add the suffix-able/-ible to the verbs given in the box. Consult a dictionary if
necessary. Translate the adjectives into Russian.

suit vary charge avail maneuvre predict value demount convert
interchange access

B. Fill in the blanks with the appropriate adjectives. Translate the sentences.
1. The snow had a ... effect on traffic.
2. Computers should be made readily ... to teachers and pupils.



3. This knowledge may be ... from studying similar types of operation that
are undertaken by other companies.

4. This is the ... box van or body, which is used in a similar way to a
standard container.

5. Advice will be given as a ... service.

6.  All... loads represent some sort of security risk.

7. When there 1s a mixed load of light and heavy goods, it can be much
worse because of the ... spread of the load within the vehicle.

8. If a vehicle is ..., it can be moved or turned easily.

0. This camera has ... lenses.

10. An object that is ... can be arranged in a different way so that it can be
used as something else.

11. Some transport modes are more ... to certain types of operational
requirements than are others.

2. There are some rules of saying fractions and decimals in English, for
example:

3 — one third

7 — two thirds

3 73 — three and seven 1.1 — one point one

0.002 — zero point two zeros two

3.576 — three point five seven six

A. Read fractions and decimals.
125 0 58 1 7270 957 ) 158/9

] 023 | 0.009 ) 10.01 | 205.35 ] 79.31 |
0.0003

B. Match the numbers with the way they are read.

B

240 a)  two hundred and sixty-five thousand

2,750 b)  two thousand seven hundred and fifty

265,000 c)  two billion

2,500,000 d) two hundred and forty

2,000,000,000 e) two million, five hundred thousand

Al A



C. Match the numbers with the way they are read. Practice reading these
numbers.

A B

1. 50% a)  four point six percent

2. 2% b)  one point two three

3. 25 «c¢) twopoint five

4.6% d)  two thirds

1/4 e two and a half

1.23 1) three quarters

% g)  aquarter

4. 7 h)  fifty percent

3. Use Past Participle of the italicized verbs to form word combinations.
Model: ... politicians (to shock) — shocked politicians — mOIUTHKH B
COCTOSIHUH ITOKA

1. watches (to repair)

2. containers (to seal)

3. designs (to patent)

4. steel (to corrugate)

5. boxcars (to close)

6. service (to limit) 7. container boxes (to design) for movement
8. vehicles (to load) on flatcars

0. iron boxes (to stack) on transport ships
10.  units (to construct) from thick steel

11. companies (to carry) railroad boxcars
12.  load (to transfer) to trucks

Variant 4

1. You don’t find it difficult to translate noun phrases like railway transport or
freight car. But how about logistics management or sales department?

Here is a model to help you:

lay-out diagram: kmrodeBoe ciioBo diagram (cxema), ompezeneHue lay-out
(pacnosoxxeHue)

— lay-out diagram — cxema pacroyoKeHus;

wage rise: KIIF0ueBOe CJIO0BO rise (IOBBIIICHKE), ONIPEIeIeHre wage (3apruiara)

— wage rise — MOBBIIICHHUE 3aPIUIATHI;



A. Translate the following noun phrases into Russian:

transit responsibility; joint venture; sea vessel; transport legislation; shipping
documents; destination country; key objective; logistics management; handling
vehicle; container transport; distribution company; freight service; freight traffic;
height and width dimensions; standard dimensions; standard length; road wheels; road
vehicle;.

B. Translate the sentences into Russian paying attention to noun phrases.

1. These are specific elements that may influence the choice of transport mode.
2. There are some important characteristics that need to be considered when
determining modal choice concerns the other logistics components. 3. Many freight
trains have to fit their schedules around passenger trains, which take priority. 4.
Railway companies need to develop intermodal systems to offer flexibility and cost
advantages comparable to road freight transport and container services. 5. The ability
to move freight swiftly and safely aids the logistics process. 6. The roll-on roll-off
ferry is a sea vessel designed to carry road vehicles. 7. Various distances are cited by
railway economists for the point at which movements by rail become profitable. 8.
The motor vehicle is a mechanically propelled vehicle intended for use on roads. 9. If a
vehicle is driven by petrol or diesel, by gas turbine, by electric battery or by steam
generation, it is classified as a motor vehicle. 10. There are two major vehicle
classifications used for UK transport legislation. 11. Goods vehicles are required to
undertake a wide variety of jobs. 12. With the new levels of vehicle technology, it
is becoming increasingly difficult for own maintenance facilities to justify the
investment in the necessary equipment needed to maintain these modern vehicles.

2. Match the words and phrases in column A with their definitions in column B.

A B

1. bimodal semi-trailer a) a non-road going vehicle for use in port
terminals and intermodal yards used for stacking and moving ISO standard containers

2. a bogie b)  astandard freight container for road and rail transport

3. high-cube container c) a specialized type of container designed to
carry bulk liquids or gases

4. kingpin d) a type of railroad car specially designed to carry
intermodal containers

5. overhead straddle crane e) a road semi-trailer that can be converted
into a rail wagon by the addition of rail bogies



6. semi-trailer f) the nipple at the front of a semi-trailer to connect to a
fifth wheel coupling

7. spine rail wagon g)  an undercarriage with four or six wheels pivoted
beneath the end of a railroad car

8. tanktainer h)  a trailer having wheels at the back but supported at the
front by a towing vehicle

0. swap-body 1) a container of standard ISO length and width but with a
height 0of 9°6" (2.9 m)

10. awellcar j) a rail wagon with a central chassis designed to carry a
semi-trailer

3. Mind the difference between prepositions before — panbie, 10; after — mocie,
3a, crycTs and conjunctions before — mpexae uem, 10 TOro Kak; after — mocie Toro
kak. Fill in the blanks with either before or after and translate the sentences.

1. What are you going to do ¢ you graduate from the University? 2. Make sure
you check the oil and tyres 4 setting out on a long journey. 3. ¢ half an hour we got
tired of waiting and went home. 4. She’s never been up in a plane ¢ and she’s feeling
very nervous. 5. ¢ the cars are checked and the brakes tested, the train departs. 6. 4 the
law was passed the railroads have got more freedom to compete with other types of
transportation. 7. ¢ 1980s, the use of classification yards was widely applied all over
the USA. 8. Get out of here ¢ I call the police.

Variant 5
1. Match the beginnings of the sentences with their endings.

l. Trains arriving at the terminal are called incoming trains; trains leaving
the station are called ... a) and then reassembled (rebuilt) into outbound trains.

2. Incoming trains are uncoupled and then ... b)  are assembled in the
departure yard.

3. Trains first enter the arrival yard and ... c)  outbound trains.

4. At marshaling yards incoming trains are broken up ... d)

destination.

5. Many trains that carry bulk cargo travel directly from originto ... )

they are assembled into new trains.

Have a look at the sentences and pick out 6 pairs of antonyms and 3 pairs of
synonyms. Translate these words and memorize their meanings



2. Mind the difference between conjunction because — moromy uro and
preposition because of — uz-3a. Transform the following sentences using because of.
Be careful about Grammar!

Model: He couldn’t play because he had an injured shoulder. —

He couldn’t play because of his injured shoulder.

I couldn’t speak with my boyfriend in private because he was late for the party.

— I couldn’t speak with my boyfriend in private because of his being late for the

party.

1. Mary failed to get the job because she was late for the interview. 2. The
weather was terrible, so we couldn’t eat outside. 3. She had to stay at home because
she had a broken ankle. 4. The light was very bad, so the referee had to stop the
game. 5. The flowers died because it was dry. 6. Some people find English difficult
because it is not easy to pronounce the words. 7. The traffic was very heavy. |
couldn’t reach the destination in time. 8. We have lost a lot of business because you
are incompetent. 9. General cargo transporting is less easily mechanized because it has
a great variety of shapes, sizes, and weights. 10. The pressure of competition from
other forms of transportation was high, so classification yards began to lose their
importance. 11. The development of supersonic aircraft has been prevented because it
creates a lot of noise while in flight.

3. Translate the following sentences into Russian paying attention to -ing forms.

1. Russian trains run on 76 direct international lines linking Moscow with Paris,
Berne, Rome, Berlin and so on. 2. In fact Moscow monorail is the slowest and the
most expensive project so it is being used exclusively for tours. 3. Railway transport is
one of the cheapest ways of hauling freight over long distances. 4. They have been
examining goods before loading. 5. British Rail offers different discounts to certain
groups of travelers, enabling them to travel at half-price. 6. The main advantages of
electric locos are high speed of running and clean operation. 7. While making the
experiments in the laboratory of Cambridge University Newton discovered the law of
inertia. 8. Indian Railways has designed and built a prototype double-deck car having
seats for 148 passengers. 9. While laying down railway track builders use many
machines making man’s labor easier. 10. Toronto plans to spend $C1.66 billion for
expanding the metro and buying new cars. 11. On many US railroads handling freight
traffic trains become longer and less frequent. 12. The leading role of the railway
transport in Russia is explained by specific territorial, climatic and geographical
conditions. 13. The trains operating on underground lines are provided with low
voltage direct current. 14. When constructing the railway, it is cheaper to use local
materials. 15. Freight trains consisting of more than 80 cars are hauled by two



locomotives. 16. The experience of introducing the monorail in other countries proved
that it works mostly as a fast connection for some specific routes, but is not a feasible
way of transporting a million passengers daily. 17. One of the very fast railways in the
USA was 3 miles in length and used horses for pulling wagons.

Variant 6
1. Choose the right word and translate the sentences into Russian.
1. Copper / gold conducts electricity well.

2. I couldn’t use my computer because we were without electricity / gas
yesterday.

3. The driver lost control on a curve and the vehicle / wheel hit a tree.

4. After the 1973 coal / oil crisis and the rise in fuel / tram costs, gas turbine
locomotives became uneconomic to operate.

5. Cars can be coupled together into a train and hauled / pushed by one or

more locomotives.

6. A street car / helicopter is a railway vehicle of lighter weight than a train
designed for the transport of goods / passengers.

7. Freight steam locomotives usually had diesel tractions / driving wheels
between 1,000 and 1,500 mm in diameter; passenger locomotives - between 1,800 and
2,500 mm.

8. The engines are driven by steam / source.

0. The materials used to create renewable energy sources may generate /
transmit pollution.

10.  He tried to convert / push the heavy door open.

11. Static / dynamic electricity is electricity that collects on the surface of an
object and gives you a small electric / electronic shock.

12.  This vehicle is licensed / listened to carry 4 persons.

2. Replace Russian words with their English equivalents and translate the
sentences.

1. I’ve paid my snekTpuuectBo, gas and telephone bills.

2. One day nuclear energy may replace HedTh as the main Tormiugo.

3. In Britain the difference between petrol and diesel TormBo prices has
always been small.

4, To BeipabaTeiBaTh the energy for making new products more fuels should
be burned.

5. Who invented the map engine?
6. [TogBuxHOM coctaB is the term that describes all the TpancmopTHBIC
cpenctBa that move on a railway.



7. In the 1980s the world’s largest TpamBaii system was in Leningrad, the
USSR; it was included in Guinness World Records.

8. TaroBoe ycunue is the type of power needed to make a TpancmoptHOE
CpeACTBO move, or to TSHyTh a heavy load.

0. The first trains were hauled by steam jokoMOTHBBI.

10. Rolling stock comprises all the vehicles that nBurarscs on a railway. It
usually includes locomotives, railroad cars, maccaxxupckue Baronsl and freight cars.

3. Match the English terms in column A with their Russian equivalents in
column B.

A B

l. freight carrier a)  sHeprocOeperawmuni

2. crew costs b)  Oyzaka (kaOwHa) MaIIMHKUCTA

3.  braking system Cc)  OTHENUTH JOKOMOTHUB

4.  ease of maintenance d)  coemuHUTENBbHOE YCTPONCTBO, CIEMKA

5. replacement of motive power €)  paboTaTh HaAEKHO

6. steep grade f) CUCTEMA TOPMOKEHUS

7. energy efficient g)  rpy3omnepeBo3uuk

8. to uncouple the locomotive ~ h)  3arpartsl Ha COJIep>KaHHe
JIOKOMOTHUBHOMW OpHTaIbI

0. cab 1) IIPOCTOTA B DKCILTyaTaIlliu

10. to operate safely j) KPYTO# YKJIOH (ITOIBEM)

11.  coupler k)  3ameHa mokoMOTHBa

Variant 7

1. Choose the right alternative to complete the sentences.

1.  Diesel locos are not as polluting as steam locomotives; they are healthier
for the .

a) crew b) coupler c) weather

2. The device meets  standards.

a) failure b) safety c) grade

3. Grade is usually expressed asa

a)  percentage b) mile c) liter

4. _____enables the engineering system to react to changing environment.

a)  reliability b) security c) flexibility

5. Most cars and locomotives have automatic .

a)  countries b) couplers ¢) colors

6. A is a company that moves goods from one place to another.

a)  crew b) multiple engine c) freight carrier



7. The cause of the crash was engine .

a) file b) fall c) failure
8.  Action must be taken to  further accidents.
a)  produce b) prevent ¢) invent
0. The house costs a fortune (= a large amount of money) to .
a) maintain b) operate ¢) climb
10. Conversion to electrification is more costly when you already use
locomotive-  units.
a)  headed b) hauled c¢) handed

2. Replace Russian words with their English equivalents and translate the
sentences.

1.  Battery-powered (akkymynsitopubiii) locomotives are used in mines
where diesel smoke is dangerous for TokoMOTHBHBIE OpUTAIbI.

2. This railway operates both moe3ma Ha mokoMoTHBHOW Tsre and
MOTOpBaroHHbIe noe3zaa in commuter traffic (mpuropoanoe coodieHME).

3. The steeper a ykion the more power a machine requires climbing it.

4, OkcrmyatanmonHas ruOkocth is the ability to produce a product in

different ways.

5. An anti-lock TopmosHas cuctema offers improved vehicle control and may
decrease stopping distances on dry and especially slippery roads; but it can increase
braking distance on snow and gravel.

6.  New methods must be carefully examined according to the criteria of cost
and mpocToTa B AKCILTyaTaIlHH.

7. The noBpexnennsiii locomotive is to be replaced with another one.

8. Over 30 people died when two trains collided because of a brake oTkas.

9.  In Great Britain camsiii kpyToif moabsem allowed by law on a railway is 1

foot in 70 feet.

3. Mark the following statements as ‘True’ or’ False’.

1. Trains having self-propelled vehicles are called multiple unit trains.

2. Multiple unit trains are used both for passenger and freight traffic.

3. Since the invention of the locomotive the motive power has been isolated
in one unit.

4. Locomotives are more economical than multiple unit trains because they
are more suitable for steep grades.

5. Locomotives are safer because the train’s power system is located away
from passengers.



6. Multiple unit trains are easier to maintain; therefore major railroads prefer
using locomotives.

7. It is easy to replace the failed locomotive with another one. For this
reason there is no need to take the entire train out of service.
8. Locomotives are flexible which means that larger locomotives should be

used on steep grades.
Variant 8

1. Match the beginning of the sentence on the left with the phrase on the right.

A B

l. Multiple unit trains are more energy efficient than ... a)  driving
wheels.

2. Locomotive-hauled trains are more suitable for ... b)  steep
grades.

3. In a multiple unit train much more of the train’s weight is placed on ...

C) turnaround times.

4.  Many multiple units have cabs at ... .d)  reliable brakes.

5. There is no need to reverse the multiple unit train. It gives quicker ... e)

locomotive-hauled trains.

6. If one engine on the multiple unit train fails there is no need to take the
entire train out of service because multiple unit trains have ... f) braking systems.

7. The failure of the brakes on one car of the multiple unit train may not be
dangerous because these trains have independent ... on all cars. g)  operate
safely.

8. Independent braking systems on all cars enable multiple unit trains to ...

h)  both ends.

2. Choose the right alternative and translate the sentences into Russian.

1. The chemical energy is stored / stroked in the fuel.

2. Please remain / draw seated until all the lights are on.

3. Huge qualities / quantities of oil were spilling into the sea.

4. There are people who prefer / burn to work alone even when they have to
work in a group.

3. An energy / engine is a machine that makes energy / engine more usable.

6. The first diesel-electric locomotives were used as turning / switching
locomotives.

7. The car’s combustion / performance on mountain roads was impressive.

8. The petrol tank suddenly ignited / injected.



9. A fuel-injection / oil-injection engine often produces more power than an
equivalent carbureted engine.

10. Revolutions per minute (rpm) is a unit / output of frequency of rotation:
the number of full rotations completed in one minute around a fixed axis.

11. The rated output / input is a maximum that is typically achieved by the
turbine.

12.  Diesel exhaust / power is composed of a mixture of many different toxic
chemicals.

13. There were 120 students whose ages remained / ranged from ten to
eighteen.

3. Are you good at prepositions? Insert either AT, ON or IN. Translate the
sentences into Russian. Put as many questions as you can.
1. The price of electricity is goingup  October.

2. Mozart was born  Salzburg  1756.

3. The telephone and doorbell rang  the same time.

4, I last saw Kate  Tuesday.

5. There are usually a lot of parties ~ New Year’s Eve.

6. The course begins 7 January and ends sometime  April.
7. It was quite a short book and easy to read. [read it a day.
8. I don’t like travelling  night.

9. ___Saturday night I went to bed 11 o’clock.

10. Jenny’s brother is an engineer but he’s out of work  the moment.
VI cemectp

Variant 1

1.Read the sentences, replacing Russian words with their English equivalents.

l. George Westinghouse (1300pen) a system of (Bo3ayiiHeie Topmo3a) that
made travel (Ha) train (ropazgo 6e3omnacHee).

2. In the U.S., a federal law (tpeGyrommii) the installation of (aBTocuenka)
on all (moaBmxHOM cocTaB) was passed in 1897.

3. (Cambie TsKEIIOBECHBIE) trains (IEPEBO3SAT HABAIOYHBIE TPY3bl TAKHE KaK)
iron ore and coal. Loads (Moryt Ob1Th) 130 tons per car and tens of thousands of tons
per train.

4. Modern North American (4eTbipexocHble BaroHbl g yris) typically
have 100-110 tons' (rpy3zonoasemuoctsb) In Europe, where (penbcoBblii myTh) 1S not
designed for (oceBas Harpyska) as high as those accepted in North America, the
(rpy3onoabemHocThb) of (mogoOHsIi) four-axle cars is between 60 and 65 tons.



5. Wooden freight cars (Obutm 3ameHeHBI) by (IIETPHOMETATMYECKUI)
designs, which were much (npounee) and capable of hauling (6onee TsKEenOBECHBIC)
loads.

6.  Although the Cork Run tunnel on the Pittsburgh Railroad can handle most
freight trains (MAaymumx B MPOTHUBOIOJOXHBIX HampaBiieHusx) on the (aAByxmyTHas
auHMs), many large freight cars can not pass side-by-side.

7. (ITpomyckHasi ctocOOHOCTB K.J. IMHUK) 1S the maximum (koymuecTBO) of
trains that can operate (6e3onacHo) and (HazexxHo) over a given (y4acTok myTH) during
a given period of time. For example, the Betuwe line (the Netherlands) has
(mpomryckHast crmocobHocTh) for ten (TspkenmoBecHsbI) freight trains per hour in each
(nampaBnienue), with a transit time for the line of 90 min.

8. In 1998, German Railways (skcmmyarupoBath) about 16,000
(ueTsipexocHbie momyBaronsl). Since the 1990s, this type of cars has been increasingly
(cammarth ¢ 9kcruryatanuun) and they are now rarely seen.

2. Fill in the gaps with the words from the list. (Tip: there are two extra words.)

1. Freight cars weighing 70 to 80 tons have two four-wheel .

2. Additional carriages can be  to the train as needed.

3. If the paint is too thick, it will not spread .

4. Boxcars can be divided into two types:  and cars built for a
commodity or service.

5. Russia has a considerable  of freight cars having 4 two-axle trucks.

6. A modern 36- or 45-ton boxcar __ differs from the freight cars of the
early 20th century, when the usual ~ was 9 or 14 tons.

7. A train ___ is a signaling device on a locomotive used to warn that the
train is approaching and to communicate with rail workers.

8. Cars in a train are by couplers located at both ends of each car.

0. ____1s commodity that is transported unpackaged in large quantities.

10. Priortothe  of air brakes, stopping a train was a difficult task.

11.  There are about 100 of special-purpose cars.

12.  In 1955, British railways began to  steam trains with diesel and
electric ones. The last steam locomotive was  in 1968.

13. is the maximum weight allowed on a single axle.

14. The payload capacity of freight cars has been considerably increased by
____in truck design.

15. A four-axle vehicle weighing 60 tons has an axle load of approximately
15 tons depending on how the weight was . a)  advances

b)  amount

c)  attached



axle load

bulk cargo
considerably
coupled
distributed
evenly

frame

general service
introduction
loading capacity
replace

retired

specific
stability

trucks

varieties
whistle

3. Match the English phrases with their Russian equivalents.

A I AT ol el

[
—_ O

—
N

13.

B

to attach rigidly

brakeman

car of better design

compressed air

locomotive engineer

over great distances

over the course of time

private company

quarries and coal mines

to remain in use

the very first freight cars

to turn brake wheel

two-truck car

a wide variety of cars a)  Ha OoJsbIlIM€ PACCTOSIHUS
BaroH yCOBEPIIIEHCTBOBAHHOW KOHCTPYKIIUU
MAaIIIAHUCT

caMbl€ TepPBbIE TPY30BbIC BAaTOHbI
KaMEHOJIOMHH M YTOJbHBIC IMAXThI



f) YacTHasi KOMITaHHS

g)  CXKaThlil BO3AyX

h)  3akpyumBaTh KOJECO PYYHOI'O TOPMO3a

1) JIBYXTEJIC)KEUHBIN BaroH

) 00JIbI1I0€ KOJTUYECTBO PA3HOOOPA3HBIX BATOHOB
k)  coBpemeHeM

1) OPUKPETUIATH )KECTKO (HEMOABHKHO)

m)  OCTaBaThbCs B KCIUIyaTalUU

n)  TOPMO3WJIBIIUK

Variant 2
1. Match the beginnings and ends of the sentences.

1. Interchanging cars between railroads required... a) an integral part
of all freight trains.

2. Early train brakes were hand brakes. .. b) only to work on
passenger trains.

3. Efforts to standardize brakes were... c) if cars became separated.

4. In that year, George Westinghouse... d)  after testing on the Chicago &
Burlington in Burlington, Iowa.

5. In 1871, he designed an air brake that would immediately engage... e)

developed his first air brake.

6. Westinghouse's air brakes were designed ...f) the standardization of
brakes.

7. Air brakes for freight trains were adopted in 1887... g)

unsuccessful until 1869.

8. These air brakes, with improvements, have remained... h)  operated
by brakemen in each car.

2. Degrees of comparison. Use the adjectives from the box in the superlative
form and fill in the gaps with them.

big busy common earlyeconomical expensive
good heavy large new noticeable
safe
1. Rail shipping is possibly ~~ and = mode of transportation. Rail

shipping is ___ for shipping bulky and heavy goods over long distances.



2. According to Guinness World Records,  freight train on record
weighed 220 million pounds and was more than 4 1/2 miles long.

3. mining railroad cars were pulled by men or horses, and it was until
1804 when the first steam locomotive appeared in Wales.

4, Daqin Railway is  freight line in the world; it transports more than 1
million tons of coal to the east sea shore of China every day.

5. Although the railroad is considered one of  forms of transport, there
are many possibilities for accidents to take place.

6. ___high-speed lines allow speeds of up to 320 km/h in normal operation.

7. CNR Corp. (China) will deliver 260 40-ton-axle-load gondola cars to
FMG, Australia's third-largest iron ore miner. These gondolas are  railway freight
cars in terms of loading capacity.

8. Through the years,  change in tank cars was in size. The 100 barrel
tank was _ size during the 1880s. Some of __ tank cars seen on the tracks now can
carry over 600 barrels.

3. Degrees of comparison. Use the adjectives in brackets in the comparative
form.

1. The new siding will allow (slow) freight trains to move off the main track
and let (fast) passenger trains pass.

2. As freight cars continue to advance, (good) designs will appear, making
them of (high) quality and able to haul (heavy) loads.

3. The problem of stopping long trains (quick), (smooth) and (safe) was
solved in 1869 when air brake was invented by George Westinghouse.

4. (Strong) and (reliable) than wooden cars, steel boxcars quickly became
popular on railroads.

5. Introducing steel cars made railways (efficient) as (powerful) locomotives
pulled (long) trains at (high) speed.

6. The new steel for railcars is lightweight and 50% (resistant) to corrosion
compared with existing variants.

7.  Aluminum cars are (light), (durable), (expensive) than cars with steel

bodies. They are used in specific services such as hauling coal where the (high)
loading capacity of aluminum cars justifies the car's extra cost.

8. Most rail networks in the world operate on a 1,435 mm gauge track
known as standard gauge but some countries such as Russia, Finland and Spain use
(broad) gauges while many other countries in Africa and South America use (narrow)
gauges on their networks.



Variant 3

1. Equivalents of modal verbs. Choose the correct form.

1. Loads that (are able to / are to) be protected from weather are hauled in
boxcars.

2. To apply the brakes on a boxcar, the brakeman (is to / had to) climb to the
roof of the moving train.

3. A 48-ft coal car weighing 27 tons (is able to / are allowed to) carry 77
tons of coal, but 50-ft cars of similar construction weighting 34 tons (is to / are able to)
carry 109 tons of coal.

4. In the US, rules prevent train crews from running longer than twelve
hours. When the twelve hours run out, the crew (is able to / has to) be replaced.
5. According to the traffic requirements, the railways (have to / was able to)

change their schedules two times a year.

6. The earliest reefers were ice-cooled and trains (were to / were allowed to)
make stops every 400 miles to load cars with ice.

7. On March 1, 1873, several cars of the Pittsburgh Express derailed inside
the Cork Run tunnel. Passengers (had to / was to) leave the train and walk through the
tunnel by foot.

8. The damaged train (will have to / are able to) be shunted onto a side track.

0. On the pioneer railways of the US, accidents happened very often as the
trains (weren't able to / didn't have to) stop quickly due to the limited brake power.

10.  Freight cars (has to / are allowed to) remain in service for 50 years after
their manufacture.

2. Read the sentences, replacing the italicized words with their English
equivalents.

1. (Xots) railroads (panbme) dominated (kak) freight (tak wm) passenger
traffic in the USA, increased competition from trucking reduced their role in
transportation.

2. Standard boxcars are (6onpme He) used for carrying livestock and
automobiles.
3. In Germany and some other European countries, two-axle (a ne) four-axle

boxcars have been (B ocHoBHOM) used (10 HemaBHero BpeMeHM) (Tak Kak) the
comparatively light freight doesn't require the use of truck cars.

4. Boxcars comprised about 40% of the German railways wagon fleet (10)
the 1960s.
5. Railroads (mo cux mop) play a key role in hauling (takux) goods (kak)

coal, iron ore and grain.



6. The Janney coupler patented in 1873 became the standard coupler for the
railroad car used (maxxe) today.

7. Steel cars replaced wooden variety (OGmaromaps) their strength and
durability.

8. In the early days of the railway, goods trains ran at top speeds of about 32
km/h. (Onnako) the introduction of through brakes from the 1920s allowed higher
speeds to be achieved.

0. The use of aluminum (Bmecto) steel for carbody greatly reduces the car's
tare weight.

3. Choose the appropriate word or words.

l. A boxcar is a freight car with (slat / sliding / high) sides and a (leaking /
fixed / broad) roof.

2. Boxcars may be equipped with movable (frames / ends / bulkheads) to
load large items.

3.  Forklifts and other mechanical tools are used to (deliver / load / repair)
boxcars (slower / stronger / faster).

4, Manufactured goods, which need protection from the (pilferage /
weather / damage), are carried in covered cars.

5. Standard boxcars are (lower / longer / wider) than hi-cube cars.

6. Boxcars can't be used for carrying (bulk / general / perishable) goods that
require the precise temperature control.

7. 89-foot high-cube boxcars appeared in the early 1960s to (accommodate /
carry / deliver) large auto parts.

Variant 4

1. Translate the sentences into English.

l. KpbIThIl1 BaroH — Tvn rpy30BOro BaroHa, 3aKpbIThIi CO BCEX CTOPOH.

2. KpbIThIii BaroHn npegHazHayeH JUisi 00ecrnedeHus 3aluiuThl NepeBO3UMOro
rpy3a OT aTMOC(EPHOT0 BO3AECUCTBUS, KPAXKH U MEXaHUYECKUX TTOBPEKICHUH.

3. OCHOBHBIMHM TEXHUYECKMMU XapakTtepuctukamu (technical specifications)
IPy30BOI0 BaroHa SBISIIOTCS: Macca Tapbl, TI'PYy30MOJbEMHOCTb, OOBEM Ky30Ba,
IJIOINA b 1T0J1a U JIMHEHHbIe pa3Mepsl (linear dimensions).

4. B Poccum pacnpocTpaHeHbl I€IbHOMETAIUIMYECKUE YHUBEPCAJIbHBIC
KPBIThIE BArOHBI IPY30H0IbEMHOCTHIO 68 TOHH.

5. Ky30B KpBITBIX BaroHOB HMEET paMy C I0JIOM, OOKOBBIE M TOpLIEBbIE
CTEHBI, KPBIIILY, a TAaK)K€ OOKOBbIE IBEPH U JIFOKU JUI 3arPy3KHU U BHITPY3KH IPY30B.

6.  Jlns mepeBo3KH B KPBITOM BaroHe Ipy3 JA0JDKEH ObITh YIIaKOBaH.



7. OCHOBHBIMH MNPpCUMYIICCTBAMU IICPCBO3KHU B KPBITBIX BAI'OHAX SABJIAIOTCA
COXPaHHOCTH I'Py30B U BO3MOKHOCTb aBTOMATHU3AIIUN ITOTPY3KHU-BBIT'PY3KHU.

2. Read the text and fill in the gaps with the required words.
Notes: freighthopping — HeneranpbHOE mMEpeNBUKEHUE HA TPY30BBIX
noesnax

to stow away — He3aMETHO IPOHUKATh Ha TPAHCIIOPTHOE CPEICTBO

Freighthopping
Freight trains are sometimes illegally boarded by people who don't wantor 1
to travel by passenger trains. 2 practice is called freighthopping or train hopping.

In the U.S., this became a 3 means of train ride after the American Civil
War, especially among migrant workers known as "hobos". Today, freighthopping
___4 by law in all states in the U.S., though it is still practiced. Freighthopping is
mainly used 5 the homeless population and thrill-seekers. Most hoppers sneak into
____6 and stow away in freight cars. Bolder hoppers catch a train "on the fly", i.e. as it
___7. Hopping a freight train can be 8 and sometimes leads to fatalities. Many
railroads take strict measures against hoppers. They employ railroad police, also
known as "bulls", in an attempt to 9 the practice.

Hoppers have often used boxcars or 10 in their journeys since they are
enclosed and therefore they cannot be seen by security men, 11 being insulated
from cold weather to some degree. However, on many freight trains, the traditional
boxcar has given way to more secure 12 cars or intermodals. It made freight trains
far 13 accessible than in the past. 14 (called "suicide cars" by freighthoppers)
are not often used for riding.

A) don't likeB) are afraidC) don't have the money

A) this B) these C) that is

A) convenient B) common C) inexpensive

A)is forbidden  B) have been forbidden C) forbids
A) with B) forC) by

A) loading platforms  B) freight yards  C) forklifts
A)moved B)move C)is moving

A) dangerous B) exciting C) versatile

A) promote B) replace C) prevent

A) reefers B) tank cars C) autoracks

A) as well as B) no longerC) rather than

A) slat side B) plug door C) floor space
A)more  B) less C) more or less
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14.  A) flatcars B) boxcars C) dining cars

3.. Read the sentences, replacing Russian words with their English equivalents.

(CymiectBytot paznuunbie) types of gondola cars such as:

] GA — an open top car having (PKECTKO 3aKpeIICHHbIE OOKOBBIE H
TopiieBbie cTeHbl) and (oTkuaHoe AHuIIe) consisting of doors hinged crosswise of car
(U1t BBITPY3KH TPy3a B MEXIYyPeTbCOBOE MPOCTPAHCTBO);

GB — an open top car having (>kecTkO 3aKkperyieHHbIe OOKOBBIE CTCHKH),
(>KE€CTKO 3aKperIeHHbIE WJIM OTKUIHBIC TOPIIEBBbIE CTEHKH) and (TIyXoe JHUIIE);

] GD — an open top car having ()KeCTKO 3aKperUIEeHHBIC WJIM OTKHUIHBIC
TOpLIEBBIE CTEHBI), (Tiyxoe auwuile) and (OOKOBBIE CTEHBI, OOOPYJOBaHHBIE JABEPSIMU
JUIS1 BBITPY3KH);

] GH — an open top car having (ecTKO 3aKperjieHHbIE OOKOBBIE CTEHBI)
(oTkumHBIE TOpIEBBIe cTeHbl) and (oTkumHOe mHuUIE) consisting of doors hinged at
center sills (U1 BEITpY3KH Tpy3a Ha CTOPOHY OT XK.J. TyTH);

] GS — an open top car having (KECTKO 3aKperuieHHble OOKOBBIE U
TopiieBbie cTeHbl) and (oTkuaHoe AHuIle) consisting of doors hinged at center sills or
side sills (a1 BBITPY3KHU T'py3a B MEXKIYypPeIbCOBOE MPOCTPAHCTBO W/UIIM HA CTOPOHY
OT K.J. yTH).

] GT — an open top car having (BbICOKHE >KECTKO 3aKpeIICHHbIE OOKOBBIE
ctenbl) and (KECTKO 3aKpeIUICHHBbIC WJIM OTKHJHBIE TOpIEeBbIe CTeHBI) and (riyxoe
nuutie) used for unloading (Ha poTOpPHBIX BaroHOOMPOKHUABIBATENAX) only;

] GW — a (rIyXoJOHHBIM MOMYBaroH) (C JKECTKO 3aKPEIICHHBIMU
OOKOBBIMU M TOPIIEBBIMU cTeHaMH) having one or more openings or depressions in the
bottom, allowing the lading to be lowered to obtain overhead clearance.

Variant 5

1.Fill in the gaps with the words from the list. (Tip: there are two extra words.)

1. The introduction of high-speed trains = considerable reductions in
journey time.

2. Gondolas are unloaded, using a  or overhead crane and are ideal for

3. Signal operators install,  and repair the signals on tracks and in .

4. A tank car mixer is used to blend  of a tank car directly in the car

quickly and efficiently.

5. Railroads have a large  of specialized machines to maintain the track
in a proper condition.

6.  Hatches onthe  of the cars allow for easy dumping the load.



7. For efficient loading of shipped items that are too heavy to move |,
carriers use special equipment.

8. There are three main varieties of gondolas by the height of the sides
rather than length.
0. High-sided open cars can be built with  (either metal or tarpaulin) to

haul cargoes needing protection in transit.

10. _ are perhaps the busiest freight car carrying everything from minerals
to lumber and steel.

11. Poorly maintained rotary dumpers can considerably reduce the = of a
gondola car.

12.  Rail freight has traditionally been associated with the  of heavy loads.

a)  bottom

b)  bulk products

c) contents

d)  distinguishable

e)  drop-end gondolas

f) dump

g) fleet

h)  haulage
1) maintain
1) manually

k)  piece freight

1) rail yards

m) removable covers
n)  results in

o)  rotary dumper

p)  serviceable life

2. Match the English phrases with their Russian equivalents.

B

covered gondola car
finished steel products
heavy machinery

in transit

laborious task

rowing boat

scrap metal and timber
shovels and wheelbarrows
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0. track ballasta)  roTOBBIC U3AENUA U3 CTATIN
b)  Tmkemas paborta

C)  METaUIOJOM M JIECOMATEPHAIIbI

d)  rpeOHas moaka

€)  TKEIoe MallMHHOE 000py0BaHUE

f) nyTeBoi Oamact

g)  KpBITHIH MOTYBaroH

h)  jomaTel u Tauku

1) IpY TPAHCTIOPTUPOBKE, B ITyTH CJICIOBAHUS

3. Match the words on the left with their definitions on the right.

1. covered gondola a) a car with end doors, which can be dropped
down when the car is used for shipping long items extending over more than one car;

2. drop bottom gondola ~ b)  a car with sides and ends over 36 inches
high;

3. drop end gondola c¢)  a car equipped with a removable cover, which
can be placed over the goods to protect it from the weather in transit;

4. general service gondola d)  a car with sides and ends 36 inches high or
less;

5. high side gondola ¢)  a mechanism used for unloading certain railroad
cars such as hopper cars or gondolas;

6. low side gondola f) a car not designed for a specific commodity or
shipper, without special equipment;

7. rotary car dumper g)  a single consist for a single customer carrying a
single commodity from origin to destination;

8. unittrain h)  a car with a flat floor equipped with a number of doors
for dumping freight

Variant 6

1. Infinitive. Pay attention to the translation of infinitives after the adverbs:

enough — 10CTaTo4HO, t00 — CIIUIITKOM.

A.

1. The three largest mines in the USA produce enough coal to load 25 trains
per day, each with more than 100 cars.

2. The railroad operator has enough financial resources to modernize the
infrastructure of track facilities.



3. Breakdown rail cranes are powerful enough to lift derailed rolling stock
back onto the track, although two or more cranes may be required to recover a
locomotive. In the early days of the railways, locomotives and rolling stock were small
enough to be re-railed manually, using tackles.

4, Indian Railways has enough land beside its tracks to grow sufficient
plants to enable all its trains to run on 10% biodiesel blend.

5. Many double-track rail lines are too narrow to handle two large freight
trains passing in opposite directions.

6. Railroads use special equipment to load items that are too heavy to move
manually.

7. The locomotive engineer applied the brake too late to prevent collision at
the crossing.

8. Some loads are too tall to pass safely under bridges if they are carried on
standard flatcars.

B.

l. CranpHass pamMa BaroHa JOCTaTOYHO NPOYHas, YTOOBI BBIIEPXKATh
Harpy3ky 10 (up to) 200 TOHH.

2. MocT HEZOCTaTOYHO BBICOKHH, YTOOBI TMPOMYCTHTHh JIBYXbBSIPYCHBIH
KOHTEUHEPHBIN ITOE3/I.

3. VY Hac 10CTaTOYHO BPEMEHH, YTOOBI YCIIETh Ha moe3 . JKelne3HoopoKHas
CTaHIUS PACTIONIOKEHA TOCTATOYHO OJIM3KO, YTOOBI TIONTH Ty/1a TIEIIKOM.

4. CocTaB CIUIIKOM JJITUHHBIN, YTOOBI €r0 TSHYJ OJMH JIOKOMOTHUB.

3. OTOT TpaHCHOPTEP CIUIIKOM KOPOTKUH, YTOOBI BMECTHTH 53-()yTOBBIi
KOHTEUHED.

6. OO6opynoBaHHE CIUIIKOM TPOMO3JKOE, YTOOBI ToMecTuThbes (to fit) B

KPBITBIA BaroH.

7. [ucrepna  Oblla  CHMIIKOM  HOBPEXAEHA, 4YTOOBI  MOMJIEKAThH
BOCCTaHOBIICHHIO (to restore).

8. Bonbierpy3ubie  BaroHbel-miaThOpMbl  MpEeAHA3HAUYEHBI IS TPY30B,
KOTOPBIC CIUIIKOM TSDKEIIOBECHBIC WJIM TPOMO3JKHKE ISl EPEBO3KU B CTaHJIAPTHBIX
KPBITBIX BaroHax.

2. Participle. Choose the correct form of Participle I or Participle II.

] One rail line in the U.S. has recently putting / put into operation a fleet of
gondolas with all-white interiors as an aid to loaders working / worked at night.
] Crane operators, loading / loaded steel pipes for example, have always

had trouble in estimating how far their loads were from the bottom of the gondolas.



] As black interiors against the night darkness offered no contrast,
operations were slowing / slowed down and loads were frequently damaging /
damaged when they were slamming / slammed down too hard.

] Now, with interiors painting / painted white with a special light-
reflecting / reflected paint, loadings at night are faster and gentler on the freight.

3. Fill in the gaps with the words from the list. (Tip: there are two extra words.)
1. A was draped over the boxes to keep them dry if it rains.

2. Centerbeams have bulkhead ends and a raised center . These cars must
be loaded and unloaded from both sides or the car will .

3. ____1s amechanism used for connecting the upper and lower containers of
each stack.

4. To  the pipes from rolling off the car en route, they are strapped to
each other and to the .

5. Today, approximately 90% of non-bulk cargo worldwide moves by
containers ___ on ships or well cars.

0. According to the Federal Railroad Administration, about 3,000 train
accidents  in the U.S. each year, leading to about 1,000 deaths.

7. ____ along the flatcar's sides help to secure loads and keep them from
shifting.
8. The use of high strength steels have lowered the tare weight of modern

freight cars and enabled them to carry more .

9. The universal  eliminated the need for complex tie-downs, allowing
trains to be loaded faster.

10. In rail yards, some cars are sent to unload their cargo on special tracks,
while others are moved to different tracks to await assembly into new trains ___ on
their destinations.

11. Cast iron rails weren't strong enough to  the weight of ever-heavier
locomotives and rolling stock.

12. A net is often  on top of the open-top gondola to prevent the wind
from blowing the woodchips or coal away. a)  deck

b)  depending

c)  inter-box

connector

d)  occur
e) payload
f) prevent

g)  secured
h)  shell



D osill

1) stacked
k)  stakes
1) tarp

m) tie down

n) tip over

0) trailer hitches
p)  withstand

Variant 7
1. Insert the prepositions from the box into the sentences.

among from in of on to towards with without

1. Some double-stacks have been fitted *** hitches, which allow them to
carry semi-trailers as well as containers.

2. Double-stack cars come in a number of sizes, depending *** the standard
sizes *** the containers they are designed to carry.

3. The need to prevent sideways shifting of loads resulted *** the
development *** the centerbeam flatcars.

4. To keep the centerbeam balanced, the loads must be evenly distributed
*#* both sides.

5.  Finished lumber can be exposed *** weather *** transit or wrapped in
plastic sheeting.

6. **¥* the many specialized flatcars *** the wagon fleet, there are cars
equipped *** end bulkheads and stakes on the sides. These help prevent long loads
*#%* shifting in any direction.

7. Some bulkhead flatcars have the floor sloping *** the center of the car,
allowing two stacks *** the small logs to be placed down the length *** the car.
8.  Roadrailers first appeared *** American railroads *** the 1950s.

Roadrailers are specialized truck trailers fitted *** wheel bogies and couplers. They
can be coupled *** freight (or passenger) trains *** using flatcars or spine cars.

2. Match the words on the left with their definitions on the right.

1. bulkhead flatcar



a)  the mass of clean, empty equipment, i.e. the car containing no

goods or packing and debris resulting from the goods;

2. centerbeam flatcarb)  a type of freight car specially designed to carry
shipping containers used in intermodal freight transport;

3. depressed center flatcar c) a fastener for a trailer carried on the
flatcar;

4. general service flatcar d)  a type of freight car with end walls but
without any sides used to carry long loads;

5. well car e) a type of freight car, which can be a flat-bottomed car
with no sides on which freight can be stacked;

6. spine car  f) the height or width of a tunnel or bridge; the distance
between a car and the walls or roof of the passage;

7. hitch g)  rope, cord, straps or chains used to attach or secure an item;

8. clearance h)  a type of freight car with end walls and an additional
wall dividing one side of the flatcar from the other but without any sides;

0. tare weight 1) a heavy waterproof fabric used as a protective covering

against moisture;

10. tarpaulin j) a type of freight car with lowered center deck for goods
that would exceed permissible heights if loaded on standard flatcars;

11. tie-down k) atype of freight car for carrying highway truck trailers
and/or containers.

3. Match the English phrases with their Russian equivalents.

B

aircraft components

coiled steel

end bulkhead

exposed to weather

military machinery
infrastructure of track facilities
to invest heavily in

load limit

A T ATl o el

long freight

lumber

to meet specific needs

pipes, steel slabs, utility poles
portion of floor

—
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power line



15. rescue operation

16. semi-trailer

17. shape and design of the flatcar

18.  shipping company

19. stake pocket

20. tie-down point

21. tall load a) BOCHHAs TEXHHUKA

b)  MakcuMalIbHO JOIyCKaemas Harpys3ka

C)  4YacTh ImoJsa

d)  cmacarenpHas omeparus

e) THE3JI0 WJIU CKOOa ISl CTOCK

) OTBEYaTh OIpPE/ICTICHHBIM TPEOOBAHUAM

g)  TpaHCHOPTHAsI KOMITAHUS

h)  rpy3 60abIION BEICOTHI

1) (dopMa 1 KOHCTPYKIIMSI BaroHa-1aaT@opMbl
1) AJIEMEHTHI KOHCTPYKIIMM CaMOJIeTa

k)  nuHuA 3n€KTpOonEepenaun

1) JUTMHHOMEPHBIN Tpy3

m)  MOJynpuuern

n)  KpemnexHas ckoba

0)  ToplieBas NePeropoaKa

pP)  MHBECTHUPOBATh 3HAYUTENIbHBIE CPEJICTBA B
q)  PpYyJOHHas CTallb

r) HE 3aIMIICHHBIA OT aTMOC(EPHBIX BO3ACHCTBUIMA
S) JecoMaTepuabl

t) UHPPACTPYKTypa MyTEeBOrO XO35HUCTBA

u)  TpyOBl, CTAIbHBIC JTUCTHI, CTOJOBI ISl TUHHUM CBSI3U U 3JIEKTpOIepe1ad

Variant 8

1. Put the verbs in brackets into the correct tense form to translate the sentences.

1. Several companies, including Martec and International of South
Plainfield, (to manufacture — Present Simple Active) semiautomatic inter-box
connectors.

2. The containers (to reload — Past Continuous Passive) from the ship to the

well cars by heavy-duty cranes.
3. The rail line can handle double-stacks if it (to build — Present Perfect
Passive) with sufficient vertical clearance.



4. Idler flatcars (to use — Present Simple Passive) in oversize freight service,
as loads such as pipe often (to overhang — Present Simple Active) the ends of most
standard-sized flatcars. Empty flatcars (to place — Future Simple Passive) on both ends
of the loaded car. This (to protect — Present Simple Active) the cargo ends from
damage and (to ensure — Present Simple Active) that the loaded cars (not / to damage —
Present Simple Active) the ends of adjacent cars.

5. The plastic shell over top of the flatcar (to make — Present Simple Active)
it impossible to tell what it (to haul — Present Continuous Active).

6. On October 16, 1999, Amtrak’s passenger train, en route from Chicago to
Los Angeles, (to derail — Past Simple Passive) at a section of track that (to damage —
Past Perfect Passive) by the 7-magnitude earthquake, which (to occur — Past Perfect
Active) 24 minutes prior to the accident.

7. Since 2011, a direct container train (to carry — Present Perfect Active)
auto parts from Germany to China via Siberia in 23 days.

8.  Most businesses, if they (to ship — Present Continuous Active) long
distance, often (to prefer — Present Simple Active) railroads to motor transport because
it (to be — Present Simple Active) cheaper to ship in large quantities by rail than by
truck.

0. Workers (to apply / recently — Present Perfect Active) reflective stripes to
the car sides. These stripes (to design — Present Simple Passive) to make the train more
visible to motorists approaching crossings at night.

10. Double-stack rail transport, where containers (to stack — Present Simple
Passive) on railway cars, (to introduce — Past Simple Passive) in 1984, with the first
use in the U.S.

2. Fill in the gaps with the words from the list.

1.  Railroad tank cars come in various sizes, with a variety of safety |,
heatingor ,  hatchesand  devices.

2. Non-pressure tanks cars have tank test pressure that doesn't 100 psi.

3. The  of the tank may be lined with a material such as glass or rubber
to isolate the tank contents from the tank .

4. There is a ____ on the top of the tank used for filling and for access inside
to allow cleaning and repairs.

5. Standard tank cars are mostly used for petroleum products, which don’t
require .

6. Tank cars have a variety of safety devices and  needed to ensure the

safe transportation of each commodity.
7. Signs on the tank car warn of the  material being transported.
8.  Milk tank cars were first made of glass-lined steel and later of .



9. Some tank cars are divided into 2 or 3, each of which can carry a
different product.

10. By the 1940s, that practice of using  was mostly discontinued, the
standard tank car carrying only one product at a time. a)  compartments

b)  compartment-

tank cars

c)  cooling units

d)  discharge

e)  exceed

f) hatch

g)  hazardous
h)  heating

1) interior

1) linings

k)  loading

1) shell

m) stainless steel
n)  valves

3. Match the English phrases with their Russian equivalents.

A B

l. cylindrical tank

2. foam insulation

3.  food service tank car

4.  heating system

5. highly viscous products

6. to keep at a certain temperature
7. to operate at a reduced level

8.  powdered freight

9.  refrigeration system

10.  rubber

11.  semi-liquid

12.  specialized coating

13. standard discharge device

14.  thorough cleaning a)  mUCTepHa ISl TEPEBO3KHU MHUIIEBBIX TPY30B
b)  cucrtema oborpena

C)  MONYXUIKUN

d)  mopomkooOpa3HbI€ TPYy3bI



€)  THaTedbHas OYMCTKA WU IPOMBIBKA
f) THUIIOBOM CIMBHOM MPHOOP

g)  pe3uHa

h)  cucrema oxnaxxaeHUs

1) KOTEJ HMJIMHAPUYECKOU (POPMBI

1) CIIELIMAIBHOE TIOKPBITHE

k)  XpaHuUTh IpU ONpENEICHHON TeMIepaType
1) paboTaTh HE HA MOJIHYIO MOIIHOCTh
m)  BBICOKOBSI3KHE I'PY3BI

n)  TMCHOWBOJIAIUS
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pecypc]: yueOnuk / I'ony6es A.Il., CmupnoBa N.b., XKyk A.Jl. — Mocksa: KuoPyc,



2018. — 274 c¢. — (CIIO). — ISBN 978-5-406-06567-9. — URL:
https://book.ru/book/929941. — Tekct: osnexkTpoHHBIA. — Pexum pocryna:
https://www.book.ru/book/929941 mo mapouo.

3. AHrnuiickuil s3bIK [DNEeKTpOHHBIA pecypc]: yueobHoe nocodue ans CIIO / M. A.
Bosnkosa, E. 1O. Knenko, T. A. Ky3pmuna [u ap.]. — Capatos: IIpodoOpazoBanue,
2019. — 113 c. — ISBN 978-5-4488-0356-7. — TeKCT: 3JIEKTPOHHBIH // DNEKTPOHHO-
OubIMoTEeUHas cucremMa IPR BOOKS: [caitT]. — URL:
http://www.iprbookshop.ru/86190.html. — Pexum poctyma: ans  aBTOpPHU3HP.
M0JIb30BaTelIel Mo Napoio.

4. boukapesa, T. C. AHrnauiickuii s3bIK [DIEKTPOHHBIN pecypc]: yuyeOHoe mocobue
st CITO / T. C. boukapesa, K. I'. Hananga. — Caparos: [IpodobpazoBanue, 2020. —

99 c¢. — ISBN 978-5-4488-0646-9. — Texkcr: 5MeKTpOHHBIA // DIEKTPOHHO-
OnOIMoTeUHAS cucTema IPR BOOKS: [caiiT]. — URL:
http://www.iprbookshop.ru/91852.html. — Pexum nmoctyma: mius aBTOpU3HP.

MIOJIb30BaTEIICH 1O MAPOJIIO.

5. Kammaposa, B. C. Aarnuiickuii s3bIK [ DJIeKTpOHHBIN pecypc]: yuedHoe mocodue /
B. C. Kammaposa, B. 10. Cununsia. — 3-e u3a. — Mocksa, CaparoB: MHTEpHET-
VYuusepcuter Mupopmanmonnsix Texnonoruit (MHTYUT), Ait [Iu Ap Menua, 2020.
— 118 c. — ISBN 978-5-4497-0302-6. — TekcT: 3JeKTpOHHBIA // DIEKTPOHHO-
OubIMoTEeUHasI cucremMa IPR BOOKS: [caitT]. — URL:
http://www.iprbookshop.ru/89418.html. — Pexum pgoctyma: uisi aBTOpPU3HD.
M0JIb30BaTelIe M0 Mapoio.
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